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WEEK TEST 1, MARCH 2024 

TNPSC PREVIOUS YEAR QUESTION TEST - 1 
 

1. Which of the following characteristics of science is not true? 
i. It is guided by natural law 
ii.  It is testable against the observable world 
iii. It’s conclusions are permanent 
iv. It is falsifiable 
a. (ii) (iii) and (iv)only b. (iii) and (iv) only  c. (iii) only  
d. (iv) only    e. Answer not known 
mwptpaypd; gpd;tUk; gz;Gfspy; vJ cz;ikay;y? 
i. ,J ,aw;if rl;lj;jhy; top elj;jg;gLfpwJ. 
ii. ,J fhzf;$ba cyfj;jpw;F vjpuhf Nrhjpf;ff;$baJ  
iii. ,jd; KbTfs; epue;jukhdit  
iv. ,J ngha;g;gpf;fg;glf; $baJ  
a. ii, iii kw;Wk; iv kl;Lk;  b. iii kw;Wk; iv kl;Lk;  c. iii kl;Lk;  
d. iv kl;Lk;   e. tpil njhpatpy;iy 
 

2. Which one of the following process is not cognitive? 
a. Recognition    b. Rote memory  c. Selective Recall 
d. Analysis    e. Answer not known 
gpd;tUtdw;Ws; vJ mwpTrhh; nray;Kiw my;y? 
a. fz;Lzh;jy;    b. nghUSzuh kdg;ghlk;   

c. njupe;njLf;fpw epidT $h;jy; d. gFg;G    
e. tpil njupatpy;iy  
 

3. The term ‘Scientific temper’ was used by  
a. Mahatma Gandhi in ‘Autobiography’ 
b. Nehru in ‘Discovery of India’ 
c. Kautilya in ‘Arthashastra’ 
d. Bipan Chandra in ‘History of Modern India’ 
e. Answer not known 
‘mwptpay; kdg;ghq;F’ vd;w nrhy;ypidg; gad;gLj;jpath; 
a. kfhj;kh fhe;jp ‘Rarhpij’  b. NeU ‘fz;lwpe;j ,e;jpah’  
c. nfsby;ah; ‘mh;j;jrh];jpuk;’ d. gpgpd; re;jpuhtpd; ‘etPd ,e;jpa tuyhW’ 

e. tpil njhpatpy;iy 
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4. How do you develop “Scientific Temper” among students? 
i. Give extra coaching to the students 
ii. Encourage them to ask questions and allow them to seek out answer on 
their own 
iii. Motivate to apply the methods of Science in day to day life 
iv. Provide well prepared science study materials to them 
a. i only     b. ii and iii only  c. i, ii and iii only 
d. i,ii, iii and iv only  e. Answer not known 
khztu;fspilNa mwptpay; kdg;ghd;ikia vt;thW tsu;g;gJ? 
i. khztu;fSf;Ff; $Ljy; gapw;rpaspj;jy; 

ii. khztu;fis Nfs;tpfs; Nfl;fTk; mjw;Fg; gjpypid fz;lwpaTk; 
Cf;Ftpj;jy; 
iii. md;whl tho;tpy; mwptpay; Kiwfisg; gad;gLj;j Cf;Ftpj;jy; 

iv. mth;fSf;F ed;F jahhpf;fg;gl;l mwptpay; ghlg;nghUspid toq;Fjy;;;;;;;; ;;;;;; 
a. i kl;Lk;   b. ii kw;Wk; iii kl;Lk; c. i, ii kw;Wk; iii kl;Lk; 
d. i> ii> iii kw;Wk; iv kl;Lk; e. tpil njhpatpy;iy 

 
5. Which of the following statements are true about Himalayas? 

(i) The Greater Himalayas are also called Himadri. 
(ii) The Greater Himalayas receive more rainfall compared to the lesser 

Himalayas and the Siwalik. 
(iii) Major hill stations are located in the Himachal Range. 
a. (i) only   b. (i) and (iii) only  c. (i) and (ii) only 
d. (ii) and (iii) only  e. Answer not known 
,kakiy gw;wpf; $wg;gLk; gpd;tUk; thf;fpaq;fspy; vJ rhpahdJ? 
(i) nghpa ,kakiy ,khj;hp vd;W miof;fg;gLk;. 
(ii) rpwpa ,kakiy kw;Wk; rpthypf; Fd;Wfis xg;gpLk; NghJ ,g;gFjp 

mjpf kioiag; ngWfpd;wJ. 
(iii) Gfo; ngw;w Nfhil thoplq;fs; ,kakiyj; njhlhpy; mike;Js;sd. 
a. (i) kl;Lk;   b. (i) kw;Wk; (iii) kl;Lk; c. (i) kw;Wk; (ii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk; e. tpil njhpatpy;iy 

 
6. Match the following: 

A. Karakoram pass  1. Himachal Pradesh 
B. Zojila pass   2. Sikkim 
C. Bamdila pass  3. Jammu and Kashmir 
D. Nathula pass  4. Arunachal Pradesh 

A B C D 
a.  3 1 4 2 
b.  4 3 2 1 
c.  3 4 1 2 
d.  2 1 4 3 
e. Answer not known 
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nghUj;Jf. 
A. fhuNfhuk; fztha; 1. ,khr;ry gpuNjrk; 

B. N[h~pyh fztha;  2. rpf;fpk; 

C. nghkpbyh fztha; 3. [k;K-fh~;kPh; 
D. ehJyh fztha;  4. mUzhr;rygpuNjrk; 

A B C D 
a.  3 1 4 2 
b.  4 3 2 1 
c.  3 4 1 2 
d.  2 1 4 3 
e. tpil njhpatpy;iy 

 
7. The relief of Doklam, which is a trijunction of India, China and Bhutan is a 

a. Mountain range  b. Plateau   c. Plain   
d. Hill    e. Answer not known 
,e;jpa> irdh kw;Wk; G+l;lhdpd; Kr;re;jpg;ghd> ‘Njhf;yhk;’ - ,d; 
epyj;Njhw;wk; 
a. kiyj; njhlh;  b. gPlG+kp   c. rkntsp 
c. Fd;W    e. tpil njhpatpy;iy 
 

8. Which of the following statements are true about the location and extent of 
India?  
i. India is divided into almost two equal halves by tropic of cancer.  
ii. India is the second largest country of the world in area  
iii. The latitude and longitudinal extend is nearly thirty degrees.  
iv. The standard meridian of India passes through Bhopal  
a. (ii) and (iii) only    b. (i), (ii) and (iv) only c. (i) and (iii) only  
d. (i) (iii) and (iv) only  e. answer not known 
,e;jpahtpd; ,Ug;gplk; kw;Wk; gug;gsT Fwpj;Jg; gpd;tUk; $w;Wfspy; vJ 
rhpahdJ?  
i. flf Nuifapdhy; ,e;jpah Xustpw;F ,uz;L rkg; gFjpfshfg; 
gphpf;fg;gl;Ls;sJ.  
ii. gug;gstpy; cyfpd; ,uz;lhtJ nghpa ehL ,e;jpah  

iii. ml;r kw;Wk; jPh;f;f NuiffSf;F ,ilNa cs;s ,ilntsp fpl;ljl;l 
Kg;gJ bfphp MFk;.  
iv. ,e;jpa jpl;l jPh;f;f Nuif Nghghy; topahf fle;J nry;Yk; 
a. (ii) kw;Wk; (iii) kl;Lk; b. (i), (ii) kw;Wk; (iv) kl;Lk;  

c.(i) kw;Wk; (iii) kl;Lk;   d. (i), (iii) kw;Wk; (iv) kl;Lk;   
e. tpil njhpatpy;iy  

 
9. Land and Sea breezes and trade winds are formed due to  

a. Convection  b. Heat conduction   c. Heat radiation 
d. Scattering  e. Answer not known 
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epyk; kw;Wk; fly; fhw;w kw;Wk; tpahghu fhw;W ,jdhy; cUthfpwJ 
_________. 
a. ntg;gr;rydk;  b. ntg;gf; flj;jy;  c. ntg;g fjph;tPr;R 
d. rpjwy;;;;;;    e. tpil njhpatpy;iy. 

 
10. The Government Final Consumption Expenditures (GFCE) comprises of the 

followings: 
i. Revenue expenditure 
ii. Gross purchase of goods and services 
iii. Consumption of fixed capital 
iv. Consumption of variable capital 
Select the correct one combination 
a. i and ii only   b. i and iii only       c. ii and iii only  

d. i and iv only   e. Answer not known 
murhq;fj;jpd; ,Wjp Efh;T nryT gpd;tUtdtw;iw cs;slf;fpaJ 
(i) tUtha; nrytpdq;fs; 
(ii) nghUs;fs; kw;Wk; Nritfspd; nkhj;j nfhs;Kjy; 
(iii) epiyahd %yjd Efh;T 
(iv) khWk; %yjd Efh;T 
rhpahdtw;iw Njh;e;njL. 
a. (i) kw;Wk; (ii) kl;Lk; b. (i) kw;Wk; (iii) kl;Lk; c. (ii) kw;Wk; (iii) kl;Lk; 
d. (i) kw;Wk; (iv) kl;Lk; e. tpil njhpatpy;iy 

 
11. Arrange the following plans in chronological order. 

(i). Gandhian Plan   (ii). Bombay Plan  
(iii). Jawaharlal Nehru Plan  (iv). Vishveshwarya Plan 
a. (i), (ii), (iii), (iv)  b. (iv), (iii), (ii), (i)  c. (i), (ii), (iv), (iii) 
d. (ii), (i), (iv), (iii)  e. Answer not known 
fPo;f;fz;l jpl;lq;fis fhyKiwg;gb thpirg;gLj;Jf. 
i. fhe;jpaj; jpl;lk;   ii. ghk;Ng jpl;lk; 
iii. [t`h;yhy; NeU jpl;lk;  iv. tp];NtRtua;ah jpl;lk; 
a. (i), (ii), (iii), (iv)  b. (iv), (iii), (ii), (i)  c. (i), (ii), (iv), (iii) 
d. (ii), (i), (iv), (iii)  e. tpil njhpatpy;iy 
 

12. The working of licencing policy in India under the committee of  
a. Visweshwaraiah Committee b. Narasimham Committee 
c. Hazari Committee   d. Dutt Committee 
e. Answer not known 
,e;jpahtpy; jhuhskaf; nfhs;if nray;ghLfs; ve;j FOtpd; fPo; 
,aq;fpaJ? 
a. tp];Nt];ua;ah FO  b. eurpk;kk; FO  c. `rhhp FO 
d. ll; FO    e. tpil njhpatpy;iy 
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13. In the Indian context, the studies of poverty where made by 
I. Dandekar and Rath  II. P.K. Bardhan 
III. B.S. Minhas   IV. I.J. Ahluwalia 
Select the correct answer from the codes given below; 
a. I and II   b. II and III   c. I,II and III 
d. I, II, III and IV  e. Answer not known 
,e;jpa #oypy; tWik gw;wpa ,ay;Gfs; ahuhy; cUthf;fg;gl;lJ 
I.  jhz;Nlf;fh; kw;Wk; uhj;   II. P.K. gh;jd; 
III. B.S. kpd;fh];    IV. I.J. mfy;thy;ah 
fPNo Fwpf;fg;gl;Ls;s FwpaPLfspypUe;J rhpahd gjpiyf; Fwpg;gplTk;. 
a. I kw;Wk; II   b. II kw;Wk;  III  c. I,II kw;Wk; III 
d. I, II, III kw;Wk; IV  e. tpil njhpatpy;iy 

 
14. Match List I (Types of Investment) with List II (Nature of Investment) and 

select the correct answer using the code given below the Lists: 
List I     List II 
A. Direct Foreign Investment 1. Purchase of the country’s stocks, bonds  

and currencies by foreigners. 
B. Foreign Portfolio Investment 2. Investments in product assets of the  

country by foreigners. 
C. Commercial loans   3. Raising loans from foreign financial 
       institutions. 
D. Foreign institutional assistance 4. Provision of financial assistance by a  

foreign institution. 
A B C D 

a. 4 1 3 2 
b. 2 3 1 4 
c. 2 1 3 4 
d. 4 3 1 2 
e. Answer not known 
gpd;tUk; ml;ltizf; FwpaPLfspypUe;j rhpahd tpilapid ml;ltiz-I-
ypUe;J (KjyPl;L tiffs;) ml;ltiz-II-cld; (KjyPl;L ,ay;Gfs;) 
nghUj;Jf. 
ml;ltiz – I     ml;ltiz – II 
A. Neub ntspehl;L KjyPL (FDI)  1. ehl;bd; gq;Ffs;> gj;jpuq;fs;  

kw;Wk; gzk; ,itfis 
ntspehl;lth;fs; nfhs;Kjy; nra;jy; 

B. ntspehl;L Jiw rhh;e;j KjyPL 2. ntspehl;L %yjdj;jpdhy;  
ehl;bd; cw;gj;jp nrhj;Jf;fis 
cUthf;fy; 

C. tzpff; fld;fs;    3.ntspehl;L epjp epWtdq;fspypUe;J  
fld; cUthf;fy; 

D. ntspehl;L epWtd cjtpfs;  4. ntspehl;L epWtdq;fs; epjp  
cjtp mspj;jy;  
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A B C D 
a. 4 1 3 2 
b. 2 3 1 4 
c. 2 1 3 4 
d. 4 3 1 2 
e. tpil njhpatpy;iy 

 
15. Identify the correct pairing. 

a. Nucleoside - Nitrogen base + Phosphate  
b. Pyrimidines – Cytosine and sugar 
c. Purines – Adenine and Guanine 
d. Nucleotide – Nucleoside + sugar  
e. Answer not known 
rhpahd ,iziaf; fz;Lgpb. 
a. epa+f;spNahirL - iel;u[d; fhuk; + gh];Ngl; 
b. gphpkpbd;fs; - irl;Nlhrpd; kw;Wk; rh;f;fiu 
c. gpa+hpd;fs;  - mbidd; kw;Wk; Fthidd; 
d. epa+f;spNahilL - epa+f;dpNahirL + rh;f;fiu 
e. tpil njhpatpy;iy 
 

16. The enzyme involved in unwinding of DNA is 
a. Telomerase   b. Helicase   c. Polymerase 
d. Ligase    e. Answer not known 
DNA it ,uz;L ,iofshf gphpg;gjpy; <LgLk; nehjp ahJ? 

a. nlNyhkNu];   b. n`ypNf];  c. ghypnkNu]; 
d. ypNf];   e. tpil njhpatpy;iy 
 

17. The site for Kreb’s cycle is 
a. Grana of Chloroplasts b. Matrix of Mitochondria 
c. Stoma of Chloroplast d. Inner Mitochondrial membrane 
e. Answer not known 
fpnug;]; Row;rp eilngWk; gFjp 
a. gRq;fzpfj;jpd; fpuhdq;fs; b. ikl;Nlhfhz;l;hpaj;jpd; Nkl;hpf;]; 

c. gRq;fzpfj;jpd; ];l;Nuhkh  d. ikl;Nlhfhz;l;hpaj;jpd; cs; rt;T 
e. tpil njhpatpy;iy 
 

18. The largest organelle within a eukaryotic cell is ______ 
a. Mitochondria  b. Golgi Apparatus  c. Nucleus 
d. Ribosome   e. Answer not known 
A+Nfhpahl; nry;ypYs;s kpfg;nghpa cWg;G 
a. ikl;Nlhfhz;l;hpah  b. Nfhy;[p cWg;Gfs;  c. cl;fU 
d. iuNghNrhk;   e. tpil njhpatpy;iy 
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19. How the gravitational waves are formed? 
a. From a collision between two black holes 
b. From a collision between two galaxies 
c. From a collision between two stars 
d. From a collision between two planets 
e. Answer not known 
<h;g;G miyfs; vt;thW cUthfpd;wd? 
a. ,uz;L fUj;JisfSf;F ,ilapyhd Nkhjypy; ,Ue;J 
b. ,uz;L tpz;kPd; jpus;fSf;F ,ilapyhd Nkhjypy; ,Ue;J 
c. ,uz;L el;rj;jpuq;fSf;F ,ilapyhd Nkhjypy; ,Ue;J 
d. ,uz;L fpufq;fSf;F ,ilapyhd Nkhjypy; ,Ue;J 
e. tpil njhpatpy;iy 
 

20. Gas law was given by 
a. Arrhenius   b. Ostwald   c. Faraday 
d. Robert Boyle  e. Answer not known 
thA tpjpia $wpath; ____ Mthh;. 
a. mh;`Pdpa];   b. M];thy;l;  c. ghuNl 
d. uhgh;l; gha;y;   e. tpil njhpatpy;iy 

 

21. Match the following. 
A. Static friction    1. Viscosity 
B. Kinetic friction    2. Least friction 
C. Rolling friction     3. Objects are in motion 
D. Friction between the liquid layers 4. Objects are at rest 

A B C D 
a. 4 3 2 1 
b. 2 1 4 3 
c. 4 1 3 2 
d. 3 4 1 2 
e. Answer not known 
gpd;tUtdtw;iw nghUj;Jf. 
A. epiy cuha;T    1. ghfpay; gz;G 
B. ,af;f cuha;T    2. kpff; Fiwe;j cuha;T 

C. cUSk; cuha;T    3. nghUs;fs; ,af;fj;jpy; cs;sd 

D. jput mLf;FfSf;F ,ilNaahd  
  cuha;T     4. nghUs;fs; Xa;T epiyapy;  

cs;sd 
A B C D 

a. 4 3 2 1 
b. 2 1 4 3 
c. 4 1 3 2 
d. 3 4 1 2 
e. tpil njhpatpy;iy 
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22. Assertion: A refrigerator transfers heat from lower temperature to higher 
temperature 
Reason: Normally heat cannot be transferred from lower temperature to 
higher temperature without doing any external work. 
a. Both Assertion and reason are true and reason is the correct explanation 

of assertion. 
b. Both assertion and reason are true but the reason is not the correct 

explanation of the assertion 
c. Assertion is true but the reason is false 
d. Assertion is false but the reason is true 
e. Answer not known 
$w;W: xU Fsph;rhjd ngl;b> Fiwthd ntg;gepiyapypUe;J mjpfg;gbahd 
ntg;g epiyf;F ntg;gj;ij flj;JfpwJ. 
fhuzk;: ve;j xU Gw NtiyAk; nra;ahky; rhjhuzkhf Fiwe;j 
ntg;gepiyapypUe;J mjpfg;gbahd ntg;g epiyf;F ntg;gj;ij flj;j 
,ayhJ 
a.  $w;W rhp fhuzk; rhp. fhuzk; $w;wpw;fhd rhpahd tpsf;fk; 
b. $w;W kw;Wk; fhuzk; rhp Mdhy; fhuzk; $w;wpw;fhd rhpahd tpsf;fky;y 
c. $w;W rhp Mdhy; fhuzk; jtW 

d. $w;W jtW Mdhy; fhuzk; rhp 
e. tpil njhpatpy;iy 
 

23. State the meaning of Inversion of Temperature 
a. Increasing temperature with increasing height 
b. Decreasing temperature with increasing height 
c. Increasing temperature with decreasing height 
d. Increasing temperature with increasing humidity 
e. Answer not known 
ntg;g jiyfPo; khw;wj;jpw;fhd tpsf;fk; 
a. cauk; mjpfhpf;Fk; NghJ ntg;gKk; mjpfhpf;Fk; 
b. cauk; mjpfhpf;Fk; NghJ ntg;gKk; FiwfpwJ 
c. cauk; FiwAk; NghJ ntg;gKk; mjpfhpf;fpwJ 

d. <ug;gjk; mjpfhpf;Fk; NghJ ntg;gKk; mjpfhpf;fpwJ 
e.  tpil njhpatpy;iy 

 
24. The highest temperature in India during the winter season occurs at  

a. Chennai   b. Hyderabad  c. Banglore 
d. Thiruvananthapuram e. Answer not known 
,e;jpahtpy; Fspu;fhyj;jpy; ntg;gepiy mjpf mstpy; fhzg;gLk; ,lk; 
a. nrd;id   b. i`juhghj;  c. ngq;fSh; 

d. jpUtde;jGuk;  e. tpil njupatpy;iy 
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25. Clear sky, pleasant weather, low temperature and humidity, high range of 
temperature, cool and slow northern winds are the chief characteristics of 
______ season. 
a. South West monsoon b. North East monsoon  c. Winter season 
d. Summer season  e. Answer not known 
njspthd thdk;> ,dpikahd thdpiy> Fiwe;j ntg;gk; kw;Wk; <ug;gjepiy> 
mjpf ntg;gepiy tPr;R> Fsph;e;j kw;Wk; nkJthd tlf;F fhw;Wfs;> 
,itnay;yhk; ___ gUtj;jpd; Kf;fpakhd Fzq;fshFk;. 

a. njd; Nkw;F gUtkio b. tl fpof;F gUtkio  c. Fsph;fhyk; 
d. Ntdpw;fhyk;   e. tpil njhpatpy;iy 

 
26. In the Koppen’s classification of climate As type of climate represents 

a. Tropical Savana type b. Tropical monsoon type   
c. Tropical moist type  d. Hot desert type   
e. Answer not known 
Nfhg;gdpd; fhyepiy tifghl;by; As tif Fwpf;Fk; fhyepiy vJ? 
a. mad rthdh tif b. mad gUtf;fhw;W tif   

c. mad <ug;gj tif  d. ntg;g ghiy tif   
e. tpil njhpatpy;iy 

 
27. The environmental laps rate during day time is governed by 

i. Wind speed   ii. Sunlight 
iii. Topographical features iv. Cloud cover 
a. (i) and (ii) only  b. (ii) and (iii) only  c. (i), (ii) and (iii) only 
d. (i) and (iv) only  e. Answer not known 
gfy; Neuj;jpy; Rw;Wr;Roy; tPo;r;rp tpfpjk; ,tw;wpd; %yk; eph;tfpf;fg;gLfpwJ 
i. fhw;wpd; Ntfk;   ii. #hpa xsp 
iii. epyg;gug;G mk;rq;fs;  iv. KfpYiw 
a. (i) kw;Wk; (ii) kl;Lk;  b. (ii) kw;Wk; (iii) kl;Lk;  
c. (i), (ii) kw;Wk; (iii) kl;Lk; d. (i) kw;Wk; (iv) kl;Lk; e. tpil njhpatpy;iy 

 
28. Defects of the Indian Money Market: 

1. Absence of Integration 
2. Diversity in Money Rates of Interest 
3. Absence of the Bill market 
a. 1 and 2   b. 1, 2 and 3   c. 1 and 3 
d. Neither 1 nor 2, 3  e. Answer not Known 
,e;jpag; gz mq;fhbapy; cs;s Fiwfs; 
1. xUq;fpizg;G ,d;ik 
2. gy;NtW tpjkhd gz tl;b tpjk; 
3. gpy; mq;fhb ,d;ik 
a. 1 kw;Wk; 2   b. 1> 2 kw;Wk; 3  c. 1 kw;Wk; 3 
d. 1 my;y 2> 3 my;y e.  tpil njhpatpy;iy 

 



 

10 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

29. Choose the incorrect statement about the strengths of Indian Economy. 
a. India has a mixed economy  b. Industries plays the key role 
c.  India has a fast-growing economy d. Fast growing service sector  
e. Answer not known 
,e;jpag; nghUshjhuj;jpd; gyq;fs; vd;w jiyg;gpy; nghUe;jhj thf;fpaj;ij 
Njh;e;njL. 
a. ,e;jpah xU fyg;G nghUshjhuk;   

b. njhopw;Jiw Kf;fpa gq;F tfpf;fpwJ 

c. ,e;jpah Ntfkhf tsUk; nghUshjhuj;ij nfhz;Ls;sJ 
d. Ntfkhf tsUk; Nrit Jiw 
e. tpil njhpatpy;iy 

 
30. Economic development will be sustainable only if it is pursued in a manner 

which protects 
a. The Energy   b. The Agriculture  c. The Employment 
d. The Environment  e. Answer not known 
nghUshjhu tsh;r;rp ePbj;J epiyahdjhf ,Uf;f Ntz;Lkhdhy; vijj; 
njhlh;e;J – fhj;Jg; Ngz Ntz;Lk; 
a. Mw;wy;   b. tptrhak;   c. Ntiy tha;g;G 
d. Rw;Wr;#oy;   e. tpil njhpatpy;iy 

 
31. Education is 

a. Consumption good  b. Investment good  c. None 
d. Both    e. Answer not known 
fy;tp vd;gJ xU 
a. Efh;Tg; gz;lk;  b. %yjdg; gz;lk;  c. vJTkpy;iy 
d. ,uz;Lk;   e. tpil njhpatpy;iy 

 
32. Which of the following statements are true about Indian Economy? 

1. Indian economy is a typical example of Capitalist Economy 
2. Agriculture being the maximum pursued occupation in India. 
3. Indian economy has a place among the G20 countries. 
4. Adequate employment generation. 
a. (1) and (2) only  b. (2) and (3) only  c. (3) and (4) only 
d. (1) and (4) only  e. Answer not known 
gpd;tUtdtw;wpy; rhpahd nrhw;nwhliu fz;Lgpb. 
,e;jpa nghUshjhuk; 
1. ,e;jpa nghUshjhuk; Kjyhspj;Jt nghUshjhuj;jpw;F rpwe;j 

vLj;Jf;fhl;lhFk;. 
2. ,e;jpahtpy; mjpfkhNdhh; Ntshz; njhopy; nra;J tUfpd;wdh;. 
3. ,e;jpag; nghUshjhuk; G20 ehLfspy; ,lk; ngw;Ws;sJ. 
4. Ntiy tha;g;ig cUthf;f jpwd; cs;s epiy. 
a. (1) kw;Wk; (2) kl;Lk;  b. (2) kw;Wk; (3) kl;Lk; c. (3) kw;Wk; (4) kl;Lk; 
d. (1) kw;Wk; (4) kl;Lk;  e. tpil njhpatpy;iy 
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33. “Power House of the Cell” or ATP factory of the cell is 
a. Mitochondria  b. Lysosome   c. Centriole 
d. Chloroplast   e. Answer not known 
nry;ypd; Mw;wy; ikak; my;yJ nry;ypd; ATP njhopw;rhiy vdg;gLtJ 
a. ikl;Nlh fhz;l;hpah b. iyNrhNrhk;  c. nrd;l;hpNahy; 
d. gRq;fzpfk;   e. tpil njhpatpy;iy 

 

34. The lowest category in Taxonomic hierarchy is 
a. Kingdom  b. Family    c. Genus 
d. Species  e. Answer not known 
tifg;ghl;baypd; gbepiyapy; fPo;epiyapy; cs;s myF ahJ? 
a. cyfk;  b. FLk;gk;    c. Nghpdk; 
d. rpw;wpdk;  e. tpil njhpatpy;iy 

 
35. Among the following animals, whose saliva contains the bio-chemical 

substance used for the preparation of pharmaceutical drugs that can treat 
hypertension. 
a. Oryctolagus Cuniculus b. Calotes Versicolor c. Rana Hexadactyla 
d. Hirudin aria granulosa e. Answer not known 
fPo;f;fhZk; tpyq;Ffspy; ckpo;ePhpy; cs;s Ntjpg; nghUshdJ ,uj;j 
mOj;jj;ijf; Fiwf;Fk; kUe;Jfs; jahhpf;fg; gad;gLfpd;wd. 
a. Xhpf;NlhNyf]; fpA+dpFy]; b. fhNyhl;]; nthp]pNfhyh;  
c. uhdh n`f;]hlhf;ilyh  d. `pUbNdhpah fpuhDNyhrh 
e. tpil njhpatpy;iy 
 

36. Find A and B in the addition. 12A + 6AB = A09 
a. A = 7, B = 2  b. A = 8, B = 1  c. A = 6, B = 3   
d. A = 5, B = 4  e. Answer not known 
12A + 6AB = A09 vd;w $l;ly; rkd;ghl;by; A kw;Wk; B d; kjpg;G fhz;f. 
a. A = 7, B = 2  b. A = 8, B = 1  c. A = 6, B = 3   
d. A = 5, B = 4  e. tpil njhpatpy;iy 

 
37. From a basket full of eggs, 20% of the eggs were broken and 25% of the eggs 

were reserved for the guests. The remaining 22 eggs were consumed by the 
family members. How many eggs were there in the basket? 
a. 23  b. 40  c. 55  d. 67  e. Answer not known 
Kl;ilfs; epuk;gpa xU $ilapypUe;j 20% Kl;ilfs; cile;Jtpl;lJ. 25% 
Kl;ilfs; tpUe;jpdh;fSf;fhf xJf;fp itf;fg;gl;lJ. kPjk; ,Ue;j 22 
Kl;ilfs; FLk;g cWg;gpdh;fshy; cz;zg;gl;lJ vdpy; $ilapypUe;J 
nkhj;j Kl;ilfspd; vz;zpf;if ahJ? 
a. 23  b. 40  c. 55  d. 67  e. tpil njhpatpy;iy 
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38. The value of  √3√3√3. . . is 

a. √3  b. 3  c. √3√3 d. 27  e. Answer not known 

√3√3√3. . .  -d; kjpg;G 

a. √3  b. 3  c. √3√3 d. 27  e. tpil njhpatpy;iy 
 

39. 900 boys and 600 girls appeared in an examination of which 70% of the boys 
and 85% of girls passed out in the examination. Find the total percentage of 
students who did not pass. 
a. 30%  b. 24% c. 28% d. 26% e. Answer not known 
xU Njh;it 900 khzth;fSk;> 600 khztpfSk; vOjpdh;. me;jj; Njh;tpy; 
70% khzth;fSk; 85% khztpfSk; Njh;r;rp ngw;wdh;> vdpy; Njh;r;rp ngwhj 
khzt khztpfspd; rjtPjk; fhz;f. 
a. 30%  b. 24% c. 28% d. 26% e. tpil njhpatpy;iy 

 

40. Simplify : 
2 2(679 458) (679 458)

679 458

+ − −


 

a. 1 b. 2  c. 3  d. 4  d. Answer not known  

RUf;Ff: 
2 2(679 458) (679 458)

679 458

+ − −


 

a. 1 b. 2  c. 3  d. 4  e.  tpil njhpatpy;iy  
 

41. The theory of use and disuse of organs was put forward by 
a. Darwin  b. Weismann   c. Oparin 
d. Lamarck  e. Answer not known 
“gad;ghL kw;Wk; gad;gLj;jh cWg;G” nfhs;ifia Kd;nkhope;jth; 
a. lhh;tpd;   b. nta;];Nkd;  c. xg;ghhpd; 
d. yhkhh;f;  e. tpil njhpatpy;iy 

 
42. The colours exhibited in soap bubbles due to the ____ of light. 

a. Reflection   b. Refraction  c. Interference 
d. Diffraction   e. Answer not known 
Nrhg;G Fkpopfspy; tz;zk; Njhd;Wtjw;F xspapd; _________ gad;gLfpwJ. 
a. vjpnuhspg;G    b. CLUty;   c. FWf;fPl;L tpisT 
d. tpspk;G tpisT  e. tpil njhpatpy;iy 

 
43. Assertion (A): Light incident on a surface at a polarising angle 40 will have 

the same angle of incidence 40. 
Reason (R): Polarising angle is the angle of incidence for which the reflected 
light is completely plane polarized. 
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a. (A) is true but (R) is false 
b. (A) is false; (R) is true 
c. Both (A) and (R) are true; and (R) is the correct explanation of (A) 
d. Both (A) and (R) are false 
e. Answer not known 
$w;W (A): xU jsj;jpd; kPJ tpOk; xspapd; jstpisT Nfhzj;jpd; kjpg;G 

40 vdpy;> gLNfhzj;jpd; kjpg;Gk; 40 MFk; 
fhuzk; (R): jstpisTf; Nfhzk; vdg;gLtJ> ve;jnthU gLNfhzj;jpd; 
kjpg;gpw;F gpujpgypf;fg;gl;l fjpuhdJ KOtJk; jstpisTw;w xspahf 
,Ug;gjhFk; 
a. (A) rhp Mdhy; (R) jtW 
b. (A)jtW Mdhy; (R) rhp   

c. (A) kw;Wk; (R) ,uz;Lk; rhp; kw;Wk; (R) vd;gJ (A) f;F rhpahd 
tpsf;fkhFk; 
d. (A) kw;Wk; (R) ,uz;Lk; jtW   
e. tpil njhpatpy;iy 

 
44. In the collective model of the nucleus, the shape of nuclear core is 

a. Non-spherical  b. Spherical   c. Semi-Spherical 
d. Circular   e. Answer not known 
mZf;fUtpd; $l;L khjphp mikg;gpy; mZf;fU vj;jifa tbtj;ijg; 
ngw;wpUf;Fk;? 
a. Nfhs tbtkw;wJ  b. Nfhs tbtk;  c. miuf;Nfhs tbtk; 
d. tl;l tbtk;   e. tpil njhpatpy;iy 
 

45. LASERS used for hair transplantation is 
a. CO2 Laser   b. Nd: YAG Laser 
c. Ruby Laser   d. Diode Laser  e. Answer not known 
Kb rpfpr;irapy; gad;gLk; Nyrh; 
a. CO2 Nyrh;   b. Nd: YAG Nyrh; 
c. &gp Nyrh;   d. ilNahL Nyrh;  e. tpil njhpatpy;iy 

 

46. Match the local wind system with their locations: 
Local Winds   Locations 
A. Chinook   1. Rocky mountains 
B. Harmattan   2. Central Africa 
C. Karaburan   3. Central Asia 
D. Loo    4. India and Pakistan 

A B C D 
a. 1 2 3 4 
b. 3 1 2 4 
c. 1 3 2 4 
d. 3 4 2 1 
e. Answer not known 
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fPNo nfhLf;fg;gl;Ls;s fhw;Wld; mjd; tPRfpw ,lj;ijg; nghUj;Jf. 
jyf;fhw;W   tPRfpd;w ,lk; 
A. rpD}f;   1. uhf;fp kiy 
B. `h;khl;ld;   2. kj;jpa Mg;gphpfh 

C. fhuG+ud;   3. kj;jpa Mrpah 
D. Y}    4. ,e;jpah kw;Wk; ghfp];jhd; 

A B C D 
a. 1 2 3 4 
b. 3 1 2 4 
c. 1 3 2 4 
d. 3 4 2 1 
e. tpil njhpatpy;iy 

 
47. Match the following: 

Dams     State 
A. Obra Dam    1. Maharashtra 
B. Tawa Dam    2. Uttar Pradesh 
C. Hirahud Dam   3. Madya Pradesh 
D. Kadakwasla    4. Orissa 

A B C D 
a.  2 1 3 4 
b. 2 3 4 1 
c. 1 2 4 3 
d. 3 1 4 2 
e. Answer not known 
fPo;fz;ltw;iwg; nghUj;Jf. 
ePh;j;Njf;fk;    khepyq;fs; 
A. xguh ePh;j;Njf;fk;   1. kfhuh~;buh 
B. jhth ePh;j;Njf;fk;   2. cj;jpugpuNjrk; 

C. `puhFl; ePh;j;Njf;fk;  3. kj;jpa gpuNjrk; 
D. flf;fthry ePh;j;Njf;fk;  4. Xhprh 

A B C D 
a.  2 1 3 4 
b. 2 3 4 1 
c. 1 2 4 3 
d. 3 1 4 2 
e. tpil njhpatpy;iy 

 
48. Madhya Pradesh and Rajasthan get benefited by _____ project. 

a. Chambal Valley project  b. Tungabhadra project 
c. Indira Gandhi Canal project d. Kosi project 
e. Answer not known 
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kj;jpag;gpuNjrk; kw;Wk; ,uh[];jhd; khepyq;fs; ve;jj; jpl;lj;jpd; %yk; 
gadilfpd;wd? 
a. rk;gy; gs;sj;jhf;Fj; jpl;lk;  b. Jq;fgj;uh jpl;lk; 
c. ,e;jpuhfhe;jp fhy;tha;j; jpl;lk;  d. Nfhrp jpl;lk; 
e. tpil njhpatpy;iy 

 
49. Which of the following rivers originate in Karnataka? 

I. Bhavani  II. Palar III. Pennaiyar  IV. Cauvery 
Choose the correct one 
a. I, II, III   b. IV, I, II   c. III, IV, I   
d. II, III, IV  e. Answer not known 
fPo;f;fz;ltw;Ws; ve;j MWfs; fh;ehlf khepyj;jpy; cw;gj;jpahfpd;wd? 
I. gthdp  II. ghyhW  III. ngz;izahW IV. fhtphp 
rhpahdtw;iw Njh;e;njLf;fTk; 
a. I, II, III   b. IV, I, II   c. III, IV, I   
d. II, III, IV  e. tpil njhpatpy;iy 

 
50. Match the following rivers with their tributaries: 

A. Indus River   1. Gomti 
B. Ganga River   2. Indravati 
C. Brahmaputra River 3. Chenab 
D. Godavari River  4. Subansiri 

A B C D 
a. 3 1 2 4 
b. 2  4 3 1 
c. 2 4 1 3 
d. 3 1 4 2 
e. Answer not known 
fPo;f;fz;l MWfis mtw;wpd; JizahWfSld; nghUj;jTk;: 
A. rpe;J ejp   1. Nfhkjp 
B. fq;if ejp   2. ,e;jpuhtjp 

C. gpuk;kGj;jpuh ejp  3. rPdhg; 

D. Nfhjhtup ejp  4. Rgd;= 
A B C D 

a. 3 1 2 4 
b. 2  4 3 1 
c. 2 4 1 3 
d. 3 1 4 2 
e. tpil njupatpy;iy 
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51. Which of the following statements are true about Eleventh Five Year Plan of 
India? 
i. The main focus of this plan was towards faster and more inclusive 

growth 
ii. This plan stresses that benefits of development should reach all sections 

of population 
iii. Increased rice production in the eastern part of the country 
a. i only    b. i and iii only  c. i and ii only 
d. ii and iii only  e. answer not known 
fPo;f;fz;l $w;Wfspy; rhpahdij Njh;e;njLf;fTk; 
,e;jpahtpd; gjpndhd;whtJ Ie;jhz;Lj; jpl;lj;ijg; gw;wpa gpd;tUk; 
$w;Wfspy; vJ rhpahdJ? 
i. ,e;jj; jpl;lj;jpd; Kf;fpa ftdk; tpiuthd kw;Wk; cs;slf;fpa 

tsh;r;rpia Nehf;fpajhf ,Ue;jJ 
ii. tsh;r;rpapd; gyd;fs; midj;Jj; jug;G kf;fisAk; nrd;wila Ntz;Lk; 

vd;gij ,e;jj; jpl;lk; typAWj;JfpwJ 
iii. ehl;bd; fpof;Fg; gFjpfspy; mhprp cw;gj;jp mjpfhpj;J 
a. i kl;Lk;   b. i kw;Wk; iii kl;Lk; c. i kw;Wk; ii kl;Lk; 
d. ii kw;Wk; iii kl;Lk; e. tpil njhpatpy;iy 
 

52. Nehru-Mahalanobis planning model was based on the following strategies 
emphasised are 
i.   High rate of saving    ii.  Preferred a heavy industry 
iii. Discouraged import substitution  iv. Safeguard infant industry 
a.  i and ii correct  b.  i, ii, and iii correct c.  i, ii, and iv correct 
d.  i, ii, iii and iv correct e.  answer not known 
NeU – kfyNehgp]; jpl;l khjphp gpd;tUk; cj;jpfis typAWj;JfpwJ. 
i. mjpf Nrkpg;G tPjk;    ii. fduf njhopYf;F Kd;Dhpik  
iii. ,wf;Fkjp gjpyPl;L Cf;fkpd;ik iv. Gjpa njhopYf;F ghJfhg;G  
a. i kw;Wk; ii rhp  b. i, ii kw;Wk; iii rhp c. i, ii kw;Wk; iv rhp  
d. i, ii, iii kw;Wk; iv rhp  e. tpil njhpatpy;iy  

 
53. According to the evaluation report of Niti Ayog related to Minimum Support 

Price (MSP), which of the following statement (s) is/are correct? 
a. MSP is declared before the sowing season. 
b. The idea behind MSP is to give guaranteed prices to the farmers and save 

them from price fluctuations. 
c. With globalization resulting in free trade in agricultural commodities, it 

is not important to protect the farmers from the unwarranted fluctuations 
in prices. 

a. (a), (c) only  b. (a), (b) only   c. (b) only   
d. (c) only  e. Answer not known 
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epjp MNahf;fpd; Fiwe;jgl;r MjuT tpiy (MSP) njhlh;ghd kjpg;gPL 

mwpf;ifapd; gb fPo;fhZk; ve;j $w;W/$w;Wfs; rhpahdJ/rhpahdit 
MFk;? 
a. “Fiwe;jgl;r MjuT tpiy” tpijg;Gf; fhyj;jpw;F Kd;Ng mwptpf;fg;gLk;. 
b. “Fiwe;jgl;r MjuT tpiy” apd; Nehf;fk; tptrhapfSf;F tpiy 

cj;juthjk; mspg;gJ MFk;. 
c. cyfkakhf;fypdhy; Vw;gl;Ls;s jq;F jilaw;w th;j;jfj;jpd; tpisthf 

tptrha nghUs;fspd; tpiyapy; Vw;gLk; Njitaw;w Vw;w ,wf;fq;fspy; 
,Ue;J tptrhapfis fhg;gJ Kf;fpaky;y. 

a. (a)> (c) kl;Lk;  b. (a)> (b) kl;Lk;   c. (b) kl;Lk; 
d. (c) kl;Lk;   e. tpil njhpatpy;iy 
 

54. The functions of NITI are  
1. Decentralized Planning   2. Harmonization  
3. Capacity Building   4. External Consultancy  
Out of these, which are correct answers? 
a. (1) and (2)    b. (2) and (3)    c. (1) (2) and (3)  
d. (2) and (4)    e. Answer not known  
NITI - d; gzpfshtd 
1. gutyhf;fg;gl;l jpl;lk;   2. xj;jpirT  
3. jpwd; Nkk;ghL    4. ntspg;Gw MNyhrid  
a. (1) kw;Wk; (2)   b. (2) kw;Wk; (3)    c. (1) (2) kw;Wk; (3)  
d. (2) kw;Wk; (4)    e.  tpil njhpatpy;iy 

 
55. Select the following statement is/are correct about NITI Aayog. 

I. The aim of NITI Aayog is to achieve sustainable development goals and to 
enhance Cooperative federalism in the country. 
II. The Prime Minister of India is the ex-officio chairperson of the NITI 
Aayog. 
III. There are 8 full time members is the NITI Aayog 
a. II and III only  b. II only    c. I only 
d. I and II only   e. Answer not known 
NITI MNahf; gw;wpa gpd;tUk; mwpf;fiffspy; rhpahdijj; Njh;e;njhL: 
I. NITI MNahf;fpd; Nehf;fk; epiyahd tsh;r;rp ,yf;Ffis miltJ 
kw;Wk; ehl;by; $l;LwT $l;lhl;rpia Nkk;gLj;JtJ.  
II. ,e;jpa gpujkh; NITI MNahf;fpd; mjpfhu G+h;t jiytuhf cs;shH. 

III. NITI MNahf;fpy; 8 KONeu cWg;gpdh;fs; cs;sdH 

a.  II kw;Wk; III kl;Lk; b. II kl;Lk;    c. I kl;Lk; 
d. I kw;Wk; II kl;Lk;  e. tpil njhpatpy;iy 

 
56. The prokaryotes are included in the kingdom 

a. Fungi   b. Monera   c. Animalia 
d. Plantae  e. Answer not known 
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GNuhNfhpNahl;Lfs; ________ ,uh[;[paj;jpy; cs;slf;fpAs;sJ.  

a. G+Q;irfs;   b. Nkhdpuh   c. mdpNkypah  
d. gpshz;Nl  e. tpil njhpatpy;iy 
 

57. Identify the incorrect statement with reference to Prokaryotic cell. 
a. Lack of membrane bound genetic material 
b. Presence of 70S Ribosomes 
c. Presence of Mesosomes 
d. Presence of membrane bound organelles like chloroplast and 

mitochondria 
e. Answer not known 
g;NuhNfhpahl;bf; nry; Fwpj;J jtwhd $w;wpid fz;Lgpbf;fTk;. 
a. rt;tpdhy; #og;gl;l kugZg; nghUs; fpilahJ. 
b. 70S tif iuNghNrhk;fs; fhzg;gLfpwJ. 
c. kPNrhNrhk;fs; fhzg;gLfpwJ. 
d. rt;tpdhy; #og;gl;l nry; cWg;Gfshd gRq;fzpfk; kw;Wk; 

ikl;Nlhfhz;bhpa fhzg;gLfpwJ. 
e. tpil njhpatpy;iy 

 
58. The most vital three elements (Primary Nutrients) for the growth of plants 

are 
a. K, P and N   b. N, P and Mg  c. Fe, P and N 
d. Ca, Mg and Fe  e. Answer not known 
jhtuq;fspd; tsh;r;rpf;F kpf Kf;fpakhd %d;W jdpkq;fs; (Kjd;ik 
Cl;lrj;Jf;fs;) 
a. K, P kw;Wk; N   b. N, P kw;Wk;  Mg  c. Fe, P kw;Wk;  N 
d. Ca, Mg kw;Wk;  Fe  e. tpil njhpatpy;iy 
 

59. ‘The origin of species’ book written by 
a. Lamark  b. De Vries    c. Darwin  
d. Oparin  e. Answer not known 
‘rpw;wpdq;fspd; Njhw;wk;’ vd;Dk; Gj;jfj;ij vOjpath; 
a. ykhh;f;  b. B t;hp];    c. lhh;tpd; 
d. xghhpd;  e. tpil njhpatpy;iy 
 

60. In TV transmission the audio signal is _________modulated. 
a. Electric   b. Phase     c. Amplitude  
d. Frequency   e. Answer not known 
njhiyf;fhl;rp xsp gug;gpy; xyp irif __________ gz;Ngw;wk; 

 nra;ag;gl;lJ.  
a. kpd;   b. fl;lk;    c. tPr;R   
d. mjph;ntz;  e. tpil njhpatpy;iy 
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61. When mechanical waves have a frequency below the audible range, these are 
called? 
a. Sonics   b. Infrasonics   b. Ultrasonics 
d. Supersonics  e. Answer not known 
,ae;jpu miyfs; Nfl;ff;$ba tuk;gpw;Ff; fPNo mjph;ntz; nfhz;bUf;Fk; 
NghJ ,t;thW miof;fg;gLfpd;wd 
a. Nrhdpf;  b. ,d;guh Nrhdpf;   c. my;l;uh Nrhdpf;  

d. #g;gh; Nrhdpf;  e. tpil njhpatpy;iy 
 

62. In the Haber’s process for the manufacture of ammonia 
a. Finely divided iron is used as a catalyst 
b. Finely divided molybdenum is used as a catalyst 
c. Finely divided nickel is used as a catalyst 
d. No catalyst is required 
e. Answer not known 
N`gh; nray;Kiwapy;> mk;Nkhdpah jahhpj;jypy; 
a. rpW Jfs;fshf;fg;gl;l ,Uk;G tpida+f;fpahf gad;gLfpwJ 
b. rpW Jfs;fshf;fg;gl;l khypg;gpbdk; tpida+f;fpahf gad;gLfpwJ 
c. rpW Jfs;fshf;fg;gl;l epf;fy; tpida+f;fpahf gad;gLfpwJ 
d. ve;j tpida+f;fpAk; Njitg;gLtjpy;iy 
e. tpil njhpatpy;iy 

 
63. Elements like Silicon and Germanium to be used as a semi conductor is 

purified by _______ method. 
a. Heating under vaccum b. Zone-refining  c. Van-Arkel Method 
d. Electrolysis   e. Answer not known 
Fiw flj;jpfshfg; gad;gLk; rpypfd;> n[h;khdpak; Nghd;w jdpkq;fs; 
________ Kiwapy; J}a;ikg;gLj;jg;gLfpd;wd. 
a. ntw;wplj;jpy; ntg;gg;gLj;Jjy; b. Gyj; J}a;ikahf;fy;  
c. thd;-Mh;fy; Kiw   d. kpd;dhw; gFj;jy;    
e.  tpil njhpatpy;iy 

 

64. Which easterly river of the peninsular India built fertile bird foot delta? 
a. The Godavari  b. The Kaveri   c. The Krishna 
d. The Pennar   e. Answer not known 
jPgfw;g ,e;jpahtpy; fpof;Nf ghAk; ejpfspy; tskhd gwit ghj mikg;G 
nfhz;l nly;lhit cUthf;Fk; ejp vJ? 
a. Nfhjhthp   b. fhNthp    c. fpU~;zh 
d. ngz;zhW   e. tpil njhpatpy;iy 
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65. Assertion (A): The arid soil is dry due to prevalence of the dry climate, high 
temperature and accelerated evaporation. 
Reason (R)    : This is also dry due to lacks of humus content became of 
absence of vegetative cover 
a. (A) is false, (R) is true.  
b. (A) is true, (R) is false. 
c. Both (A) and (R) are true and (R) is the correct explanation of (A) 
d. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A)  : twz;l ghiy kz; twz;l fhy epiy> mjpf ntg;gk; 
fhuzkhf Mtpahjy; mjpfkhf ,Ug;gjhy; Nky; kz; twz;L fhzg;gLfpwJ. 
fhuzk; (R)  :  NkYk; ,it twz;L fhzg;gLtjw;F fhuzk; jhtuq;fs; 
,y;yhikahy; ,iy kl;Fr; rj;J Fiwthff; fhzg;gLfpwJ. 
a. $w;W (A) jtW> fhuzk; (R) rhp. 
b. $w;W (A) rhp> fhuzk; (R) jtW. 
c. $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhp> fhuzk; (R) $w;Wf;fhd (A) 
rhpahd tpsf;fkhFk;. 
d. $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhp> fhuzk; (R) $w;Wf;fhd (A) 
rhpahd tpsffk; my;y. 
e.  tpil njhpatpy;iy 

 
66. Match the following:    

List I      List II 
A. Bassein oilfield   1. Gujarath Coast  
B. Digboi oilfield   2. Western Coast 
C. Ankleshwar oilfield   3. Eastern Coast 
D. Rawa oilfield   4. Brahmaputra valley 

A B C D   
a.  2          4         1         3 
b.  1          2         3         4 
c.  2          3         4         1 
d.   3          4         1         2  e. Answer not known  
gpd;tUtdtw;iw nghUj;jTk;: 
gl;bay; I     gl;bay; II 
A. ghrpd; vz;nza; tay;   1. F[uhj; flw;fiu 
B. jpf;gha; vz;nza; tay;     2. Nkw;F flw;fiu 

C. mq;fNy~;th; vz;nza; tay;  3. fpof;F flw;fiu 

D. uth vz;nza; tay;   4. guk;kGj;jpuh gs;sj;jhf;F 
A B C D 

a.  2          4         1         3 
b.  1 2 3        4 
c.  2 3 4         1 
d. 3 4 1         2  e. tpil njhpatpy;iy 
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67. Alluvial soil is rich in 
a. Humus, Phosphoric acid, Lime and Organic matter 
b. Iron, Lime, Calcium, Potash, Aluminium and Magnesium Carbonates. 
c. Iron and Aluminium 
d. Highly Saline and rich in organic matter 
e. Answer not known 
tz;ly; kz; _____ %yk; tskhdjhf cs;sJ. 

a. kf;fpa> gh];ghpf; mkpyk;> Rz;zhk;G> fhpkg;nghUs; 
b. ,Uk;G> Rz;zhk;G> fhy;rpak;> nghl;lh~pak;> mYkpdpak; kw;Wk; kf;dP~pak; 

fhh;gNdl;. 
c. ,Uk;G kw;Wk; mYkpdpak; 
d. kpFe;j cg;Gj;jd;ik kw;Wk; mjpf fhpkg;nghUs;fs; 
e. tpil njhpatpy;iy 

 
68. Which one of the following is not correct about the Vijaya Nagar Steel Plant? 

a. It is located in the Bellary District of Karnataka 
b. It obtains coal from Jharia 
c. It obtain hydro electricity from the Tungabhadra project 
d. It makes use of coal known as Corex process 
e. Answer not known 
fPo;fz;ltw;Ws; vJ tp[aefh; ,Uk;G v/F MiyAld; nghUe;jhJ? 
a. ,J fh;ehlfhtpd; ngy;yhhp khtl;lj;jpy; mike;Js;sJ. 
b. ,jw;F [hhpahtpypUe;J epyf;fhp ngWfpwJ. 
c. ,jw;F Jf;fgj;uh ePh;kpd; rf;jpapypUe;J ePh;kpd;rf;jp fpilf;fpwJ. 
d. ,q;F epyf;fhpahdJ Nfhuf;]; Kiwapy; gad;gLj;jg;gLfpwJ. 
e. tpil njhpatpy;iy 

 
69. “Public Private Partnership (PPP) model is emerging as a rule for future 

development of Infrastructure” – is the objective of 
a. Finance Commission b. Niti Aayog  c. Labour Commission 
d. Planning Commission e. Answer not known 
“vjph;fhy tsh;r;rpf;fhd fl;likg;Gfis nghJj;Jiw – jdpahh; Jiw 
,uz;Lk; ,ize;J nray;gl;lhy; kl;LNk tsh;r;rp mila ,aYk;” vd;gJ 
____ Nehf;fkhFk;. 
a. epjpf;FO   b. epjp MNahf;  c. njhopyhsh; Mizak; 

d. jpl;lf;FO   e. tpil njhpatpy;iy 
 

70. Arrange the source of revenue of government of India for the year 2020-21 in 
descending order. 
i. GST    ii. Personal income tax  iii. Excise 
iv. Corporate tax  v. Customs 
a. (i), (ii), (iii), (iv), (v) b. (ii), (iv), (i), (v), (iii) c. (i), (iv), (ii), (iii), (v) 
d. (iv), (i), (iii), (ii), (v)  e. Answer not known 
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2020-21 Mk; Mz;bw;fhd ,e;jpa murpd; tUtha; %yq;fis ,wq;F 
thpirapy; thpirg;gLj;Jf. 
i. GST    ii. jdp tUkhd thp  iii. jPh;it  
iv. epWtd thp   v. Rq;f thp 
a. (i), (ii), (iii), (iv), (v)  b. (ii), (iv), (i), (v), (iii) c. (i), (iv), (ii), (iii), (v) 
d. (iv), (i), (iii), (ii), (v)  e. tpil njhpatpy;iy 

 
71. Which are the correct statement(s) related to “T-Billl” Treasury bill? 

a. They are issued by RBI. 
b. They are issued by Government of India. 
c. Treasury bills pay no interest. 
d. These are long term debt instruments. 
a. (a) and (d) only  b. (b) and (c) only  c. (b), (c) and (d) 
d. (b) and (d) only  e. Answer not known 

 fPo;fhZk; $w;Wfspy; ‘T-Bill’ (Treasury bill) njhlh;ghd rhpahdtw;iw Njh;T 
nra;aTk; 
a. mit ,e;jpa hprh;t; tq;fpahy; ntspaplg;gLfpd;wd. 
b. mit kj;jpa murhy; ntspaplg;gLfpd;wd. 
c. mtw;wpd; kPJ tl;b <l;l ,ayhJ 
d. mit neLq;fhy fld; gj;jpuq;fs; MFk; 
a. (a) kw;Wk; (d) kl;Lk; b. (b) kw;Wk; (c) kl;Lk; c. (b)> (c) kw;Wk; (d) 
d. (b) kw;Wk; (d) kl;Lk; e. tpil njhpatpy;iy  

 
72. __________ system of note-issue is followed by RBI. 

a. Maximum Reserve  b. Minimum Reserve c. Proportional Reserve 
d. Fixed Fiduciary  e. Answer not known 
hprh;t; tq;fp &gha; Nehl;L mr;rpl;L ntspapLtjpy; __________ Kiw 
gpd;gw;wg;gLfpwJ 
a. mjpf gl;r ,Ug;G  b. Fiwe;j gl;r ,Ug;G c. tpfpjhrhu ,Ug;G 
d. eiyahd ek;gfj;jd;ik e. tpil njhpatpy;iy 

 

73. Consider the following statement. 
The objectives of fiscal policy are 
1. Capital formation  2. Equitable distribution 
3. Unemployment  4. Regional Balance 
From these, which are correct statement? 
a. 2, 3 and 4   b. 1, 2 and 4    c. 1, 3 and 4 
d. 1, 2 and 3   e. Answer not known 
gpd;tUk; $w;iw ftdp 
epjpf; nfhs;ifapd; Nehf;fq;fshtd. 
1. %yjd cUthf;fk;   2. rkkhd gfph;T 
3. Ntiytha;g;gpd;ik   4. rktl;lhu tsh;r;rp 
,tw;Ws;> vit rhpahd $w;W? 
a. 2> 3 kw;Wk; 4  b. 1> 2 kw;Wk; 4   c. 1> 3 kw;Wk; 4 

d. 1> 2 kw;Wk; 3   e. tpil njhpatpy;iy 
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74. Match the following. 
A. Charles Darwin  1. Genetics 
B. Gregor Mendel  2. Evolution 
C. Robert Koch   3. Modern Microbiology 
D. Clande Bernard  4. Physiology 

A B C D 
a. 2 1 3 4 
b. 2 3 1 4 
c. 3 1 4 2 
d. 3 4 1 2  e. Answer not known 
nghUj;Jf. 
A. rhh;y]; lhh;tpd;  1. kugpay; 
B. fphpfh; nkz;ly;  2. ghpzhkk; 

C. uhgh;l; Nfhr;   3. etPd Ez;Zaphpay; 

D. fpshl; ngh;dhL  4. clw;nraypay; 
A B C D 

a. 2 1 3 4 
b. 2 3 1 4 
c. 3 1 4 2 
d. 3 4 1 2  e. tpil njhpatpy;iy 
 

75. Match the following: 
A. Zoophily   1. Vallisneria 
B. Hydrophily   2. Grass 
C. Entomophily  3. Canna 
D. Anemophily   4. Salvia 

A B C D 
a. 4 3 2 1   
b. 3 2 1 4  
c. 1 2 3 4  
d. 3 1 4 2  
e. Answer not known 
fPo;fz;ltw;iw nghUj;Jf: 
A. #/gpyp   1. thyp];Nehpah 
B. i`l;Nuh/gpyp  2. Gy; 
C. vz;lNkh/gpyp  3. fy;thio 

D. mdpNkh/gpyp  4. rhy;tpah 
A B C D 

a. 4 3 2 1  
b. 3 2 1 4  
c. 1 2 3 4  
d. 3 1 4 2  
e.  tpil njhpatpy;iy 
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76. A man bought 75 mangoes for Rs. 300 and sold 50 mangoes for Rs. 300. If he 
sold all the mangoes find his profit or loss. 
a. Rs. 150 b. Rs. 250 c. Rs. 100 d. Rs. 50 e. Answer not known 
xUth; &. 300 f;F 75 khk;goq;fs; thq;fp mtw;wpy; 50 khk;goq;fis &. 300 
f;F tpw;gid nra;jhh;. midj;J khk;goq;fSk; tpw;gidahd gpd; mtuJ 
,yhgk; my;yJ el;lk; fhz;f. 
a. Rs. 150 b. Rs. 250 c. Rs. 100 d. Rs. 50 e. tpil njhpatpy;iy 

 

77. Simplify: 4 3 5 30 12 27

3 2 3 12 9 16

−
+ −  −   

a. 53

12
  b. 43

12
  c. 33

12
  d. 13

12
  e. Answer not known 

RUf;Ff: 4 3 5 30 12 27

3 2 3 12 9 16

−
+ −  −   

a. 53

12
  b. 43

12
  c. 33

12
  d. 13

12
  e. tpil njhpatpy;iy 

 
78. A dealer allows a discount of 10% and still gains 10%. What is the cost price 

of the book which is marked at Rs. 220? 
a. Rs. 120   b. Rs. 150   c. Rs. 180 
d. Rs. 220  e. Answer not known 
xU Gj;jfj;jpd; tpiyapy; 10% js;Sgb nra;jhYk; xU tpahghhpf;F 10% 
,yhgk; fpilf;fpwJ. mg;Gj;jfj;jpd; Fwpj;j tpiy Rs. 220 vdpy; mjd; 
mlf;ftpiy ahJ? 
a. Rs. 120   b. Rs. 150   c. Rs. 180 
d. Rs. 220  e. tpil njupatpy;iy 

 

79. Simplify 
225 25 16

729 144 81

 
−  

 
. 

a. 
5

16
  b. 

5

8
  c. 

6

5
  d. 

16

5
  e. Answer not known 

RUf;Ff 
225 25 16

729 144 81

 
−  

 
. 

a. 
5

16
  b. 

5

8
  c. 

6

5
  d. 

16

5
  e. tpil njhpatpy;iy 

 
80. The price of 10 chairs is equal to that of 4 tables. The price of 15 chairs and 2 

tables together is Rs.4,000. Find the total price of 12 chairs and 3 tables. 
a. Rs. 3,500   b. Rs.3,750   c. Rs. 3,840 
d. Rs. 3,900   e. Answer not known 
10 ehw;fhypfspd; tpiy 4 Nkirfspd; tpiyf;Fr; rkk;. 15 ehw;fhypfs; 
kw;Wk; 2 Nkirfs; Nrh;j;J tpiy &. 4>000. 12 ehw;fhypfs; kw;Wk; 3 
Nkirfspd; nkhj;j tpiy vd;d? 
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a. &.3>500   b. &.3>750   c. &.3>840  

d. &.3>900   e. tpil njhpatpy;iy 
 

81. The chief function of velamen tissue in plants 
a. Storage of food materials  b. Absorption of moisture from air 
c. Synthesize of food materials d. Conduction of food material 
e. Answer not known 
jhtuq;fspy; Ntynkd; jpRtpd; Kf;fpa gzp 
a. czTg; nghUl;fis Nrkpg;gJ  
b. fhw;wpypUe;J <ug;gjj;ij cWQ;RtJ 

c. czTg; nghUl;fis jahhpg;gJ 
d. czTg; nghUl;fis flj;JtJ   
e. tpil njhpatpy;iy 
 

82. _______ is the unique characteristic feature of mammals. 
a. Cold-blooded animals b. Pneumatic bones c. Presence of gills  
d. Placenta   e. Answer not known 
ghY}l;bfspd; jdpj;jd;ik _____________ MFk; 
a. Fsph; ,uj;j tpyq;Ffs; b. fhw;wiwfs; nfhz;l vYk;Gfs; 

c. nrTs;fs; ,Ug;gJ  d. jha;-Nra; ,izg;Gj; jpR 

e. tpil njhpatpy;iy 
 

83. Match the adulterants of the food: 
A. Hydrogen peroxide  1. Shiny appearance 
B. Food colours    2. Milk 
C. Calcium Carbide   3. Fresh look 
D. Carnauba Wax   4. Ripen Bananas 

A B C D 
a. 1 3 4 2 
b. 2 3 4 1 
c. 3 4 1 2  
d. 4 1 2 3  e. Answer not known 
fPo;f;fz;l fyg;glj;ij czNthL ,iz nra;f. 
A. i`l;u[d; nguhf;i]L   1. gsgsg;ghd Njhw;wk; 
B. czT epw%l;bfs;   2. ghy; 
C. fhy;rpak; fhh;igL   3. gRikj; Njhw;wk; 
D. fhh;Ndhgh nkOF   4. thiog;goj;ijg; gOf;f itg;gjw;F 

A B C D 
a. 1 3 4 2 
b. 2 3 4 1 
c. 3 4 1 2  
d. 4 1 2 3  e. tpil njhpatpy;iy 
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84. The only non – metal which is a liquid at room temperature is  
a. Chlorine   b. Gallium   c. Mercury 
d. Bromine   e. Answer not known 
miw ntg;gepiyapy; jput epiyapy; cs;s xNu mNyhfk; 
a. FNshhpd;   b. fhypak;   c. nkh;Fhp 
d. GNuhkpd;   e. tpil njhpatpy;iy 
 

85. Super oxides contain 

a. O 2

2

− ion  b. O- ion c. O2- ion d. 2O−  ion e. Answer not known 

#g;gh; Mf;i]Lfspy; ____________ cs;sJ. 

a. O 2

2

−madp b. O- madp c. O2- madp d. 2O−  madp e. tpil njhpatpy;iy 
 

86. The atomic mass of the middle element is nearly the same as average of 
atomic masses of other two elements. Which law is this? 
a. Modern periodic law   b. Newland’s law of octaves 
c. Dobereiner’s law of triads  d. Mendeleev’s law of periodicity 
e. Answer not known 
kj;jpapy; cs;s jdpkj;jpd; mZ epiwahdJ Vwf;Fiwa kw;w ,U 
jdpkq;fspd; mZepiwapd; ruhrhpf;Fr; rkkhFk;. ,J ve;j tpjp? 
a. etPd Mth;j;jd tpjp   b. epA+yhe;jpd; vz;k tpjp 
c. lhgh;dPhpd; Kk;ik tpjp   d. nkz;l;yPtpd; Mth;j;jd tpjp 
e. tpil njhpatpy;iy 
 

87. One of the following state do not come under ChotaNagpur Industrial Belt 
a. Jharkhand   b. Bihar   c. Odisha 
d. Chhattisgarh  e. Answer not known 
gpd;tUk; xU khepyk; Nrhl;lhehf;G+h; njhopw;rhiy gFjpapd; fPo; tuhjJ? 
a. [hh;f;fd;l;   b. gPfhh;   c. xbrh   
d. rj;jP];fh;   e. tpil njhpatpy;iy 

 
88. Which of the following is the relict of the world’s oldest mountain? 

a. Satpura Range  b. Aravali Range  c. Vindhya Range 
d. Sahyadris   e. Answer not known 
gpd;tUk; kionjhlhpy; vJ cyfpy; goikahd kiyfspd; gpujpgypg;G? 
a. rhj;Guh kiyj;njhlh;  b. Muty;yp kiyj;njhlh; c. tpe;jpah kiyj;njhlh; 
d. rh`;`pahj;jphp];  e. tpil njhpatpy;iy 

 
89. The forests are under the direct supervision of the Government and no public 

entry is allowed for collection of timber or grazing of cattle 
a. Reserved Forests  b. Protected Forests c. Unclassified Forests 
d. Broad-Leaf Forests  e. Answer not known 
murpd; Neub fz;fhzpg;gpy; cs;s fhLfs; kw;Wk; kuk; ntl;lTk;> khLfs; 
Nka;g;gjw;F nghJ kf;fis mDkjpf;fhj fhLfs; 
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a. xJf;fg;gl;l fhLfs;  b. ghJfhf;fg;gl;l fhLfs;  

c. tifg;gLj;jg;glhj fhLfs; d. mfd;w ,iy fhLfs;  
e. tpil njhpatpy;iy 

 
90. Match the given animals with their respective species 

A. Endangered species  1. Wild buffalo 
B. Vulnerable species   2. Asiatic cheetah 
C. Rare species    3. Crocodile 
D. Extinct species   4. Dolphins 

A B C D 
a. 3 4 1 2 
b. 2 4 1 3 
c.  3 1 4 2 
d. 2 3 4 1 
e. Answer not known 
fPNo nfhLf;fg;gl;l tpyq;Ffis mtw;wpd; rhpahd ,dq;fSld; nghUj;Jf. 
A. Mgj;jhd ,dq;fs;  1. fhl;L vUik 
B. ghjpf;fg;glf;$ba ,dq;fs; 2. Mrpa Gyp 

C. mhpjhd ,dq;fs;   3. Kjiy 

D. mope;J Nghd ,dq;fs;  4. lhy;/gpd; 
A B C D 

a. 3 4 1 2 
b. 2 4 1 3 
c.  3 1 4 2 
d. 2 3 4 1 
e. tpil njhpatpy;iy 

 
91. The steps adopted in the long term conservation strategy of wild life is/are 

i. Hunting should be strictly prohibited in the nation parks, sanctuaries, 
biosphere reserves 

ii. More national parks and wild life sanctuaries should be established 
iii. Captive breeding of wildlife should not be encouraged 
a. i only   b. ii and iii only   c. i and ii only 
d. i and iii only e. Answer not known 
td tpyq;Ffisg; ghJfhf;Fk; ePz;l fhy topKiwfspd; njhlh; mk;rq;fs; 
vd;git 
i. Njrpa g+q;fhf;fs;> ruzhyaq;fs;> caph;f;Nfhs fhg;gfq;fs; 

Mfpatw;wpy; Ntl;ilahLtJ jil nra;ag;gl Ntz;Lk; 
ii. NkYk; Njrpa g+q;fhf;fs; kw;Wk; tdtpyq;F ruzhyaq;fs; epWtg;gl 

Ntz;Lk; 
iii. tdtpyq;Ffspd; rpiwg;gl;l ,dg;ngUf;fj;ij Cf;Ftpf;ff;$lhJ 
a. i kl;Lk;  b. ii kw;Wk; iii kl;Lk;  d. i kw;Wk; ii kl;Lk; 
d. i kw;Wk; iii kl;Lk; e. tpil njhpatpy;iy 
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92. Reverse Repo Rate (RRR) means: 
1. The rate at which the RBI is willing to lend to commercial banks 
2. The rate at which the RBI is willing to borrow from the commercial banks 
3. Bank rate policy 
4. The variable portfolio ceiling 
a. 1   b. 3  c. 2  b. 4   e. Answer not known  
kPs; nug;Ngh tpfpjk; vd;gJ:  
1. tzpf tq;fpfSf;F ika tq;fp FWfpa fhy fld; toq;Fk; nghOJ 

tpjpf;fk; tl;b tpfpjk;  
2. tzpf tq;fpfsplkpUe;J thq;Fk; flDf;fhd ,e;jpa hprh;t; tq;fp 

nfhLf;f tpUk;Gk; tl;b tpfpjk;  
3. tq;fp tpfpjf; nfhs;if  
4. khWk; njhFg;G tiuaiw  
a. 1   b. 3  c. 2  b. 4   e. tpil njhpatpy;iy 

 
93. The principles of income tax of the Govt. of India based on 

i. Ability to pay   ii. Taxable capacity iii. Canon of equality 
Select the correct answer by using the codes given below: 
a. (i) and (ii) are correct b. (ii) and (iii) are correct       c. (i) only is correct 
d. (iii) alone is correct  e. Answer not known 
,e;jpa murpd; tUkhd thp nfhs;ifahdJ ,jd; mbg;gilapy; 
mike;Js;sJ. 
i. nrYj;Jk; jpwd;  ii. thp jhq;Fk; jpwd;  iii. rkj;Jt tpjp 
FwpaPLfisg; gad;gLj;jp rhpahd tpiliaj; njhpT nra;f. 
a. (i) kw;Wk; (ii) rhpahdit b. (ii) kw;Wk; (iii) rhpahdit 
c. (i) kw;Wk; rhpahdJ  d. (iii) kw;Wk; rhpahdJ 
e. tpil njhpatpy;iy 

 
94. The Government of India has decided to merge Railway Budget with Union 

Budget from the budget year 
a. 2015 – 16   b. 2016 – 17    c. 2017 – 18 
d. 2018 – 19   e. Answer not known  
,e;jpa murhdJ. uapy;Nt epjp epiy mwpf;ifia> kj;jpa epjpepiy 
mwpf;ifAld; ,izj;Jr; nray;gLj;j Jtq;fpa epjp Mz;L. 
a. 2015 – 16   b. 2016 – 17    c. 2017 – 18 
d. 2018 – 19   e. tpil njhpatpy;iy 

 
95. Which among the following are not the source of Union Government? 

a. Capitation tax  b. Foreign loans   
c. Corporation tax d. Taxes on income other than agricultural income  
e. Answer not known 
fPo;f;fz;ltw;Ws; kj;jpa murpd; gz gq;fspg;G mspf;fhj tsq;fs; 
a. jiyf;fl;L thp b. may;ehl;Lf; fld;fs; 
c. khefu thp  d. tUkhd thp (Ntshz; tUtha; jtph;j;J) 
e. tpil njhpatpy;iy 
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96. Arrange chronologically the chairman of the finance commission: 
1. Y.B. Chavan   2. K. Santhanam 3. K.C. Pant  4. Mahavir Tyagi 
a. 4, 1, 2, 3   b. 2, 4, 1, 3   c. 2, 1, 3, 4   
d. 1, 3, 2, 4   e. Answer not known 
epjp Mizaj;jpd; jiyth;fis fhythhpahf thpirg;gLj;Jf 
1. xa;.gp.rthd;  2. Nf. re;jhdk; 3. Nf.rp.ge;j;  4. kfhtPh; jpahfp 
a. 4, 1, 2, 3   b. 2, 4, 1, 3   c. 2, 1, 3, 4   
d. 1, 3, 2, 4   e. tpil njhpatpy;iy 

 
97. A sudden change of a gene or chromosome from one form to another is 

called 
a. Deletion   b. Duplication        c. Mutation  
d. Inversion   e. Answer not known 
kugZf;fs; kw;Wk; FNuhNkhNrhk;fspy; Vw;gLk; jpBh; khw;wk; miof;fg;gLtJ  
a. ,oj;jy;   b. gd;klq;fhjy;   c. rLjp khw;wk;  
d. jiyfPohjy;   e. tpil njhpatpy;iy  
 

98. Identify the incorrectly matched deficiency disorder. 
a. Vitamin B3 – Pellagra  b. Vitamin B6 – Dermatitis 
c. Vitamin B2 – Beriberi  d. Vitamin B12 – Perinicious Anaemia 
e. Answer not known. 
jtwhfg; nghUj;jg;gl;Ls;s FiwghL Nehapid fz;lwpf. 
a. itl;lkpd; B3 - ngyhf;uh  

b. itl;lkpd; B6 - nlh;khbl;]; 
c. itl;lkpd; B2 - nghp nghp  
d. itl;lkpd; B12 - capiug;Nghf;Fk; ,uj;j Nrhif 

e. tpil njupatpy;iy 
 

99. An important indicator of nutrition deficiency is  
a. Anaemia   b. Obesity   c. Kidney failure 
d. Night blindness  e. Answer not known 
Cl;lr;rj;J Fiwghl;bd; Kf;fpa mwpFwp 
a. ,uj;jr; Nrhif  b. cly; gUkd;  c. rpWePuf nraypog;G 
d. ,uT FUl;Lj;jd;ik e. tpil njhpatpy;iy 
 

100. Haemoglobin in Human has the highest affinity with which of the following 
gas? 
a. Carbon monoxide  b. Methane  c. Nitrous Oxide   
d. Carbon-di-Oxide  e. Answer not known 
fPo;fz;l ve;j thAld; kdpjdpd; `PNkhFNshgypd; kpf mjpfkhf 
gpizg;gpid Vw;gLj;jp nfhs;Sk;? 
a. fhh;gd; Nkhdhf;irL b. kPNjd;   c. iel;u]; Mf;irL 
d. fhh;gd; il Mf;irL e. tpil njhpatpy;iy 
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101. A compound as hard as diamond is 
a. Silicon Carbide b. Silicontetra Chloride  c. Silica 
d. Silico ethane  e. Answer not known 
ituk; Nghd;W kpff; fbdkhd Nrh;kk; 
a. rpypf;fhd; fhh;igL b. rpypf;fhd;nll;uh FNshiuL c. rpypf;fh 
d. rpypf;Nfh <j;Njd; e. tpil njhpatpy;iy 

 
102. Among the following which is a nitrogenous fertilizer? 

a. Urea    b. Potassium Sulphate  c. Bone ash 
d. Gypsum   e. Answer not known 
fPo;f;fz;ltw;Ws; vJ iel;uIid ngw;Ws;s cuk;? 
a. A+hpah    b.nghl;lhrpak; ry;Ngl;  c. vYk;Gr; rhk;gy; 

d Ipg;rk;   e. tpilj;njhpatpy;iy  
 

103. Which of the following statements are true about biogas plant? 
1. Difficult to handle the effluent slurry 
2. Gas forming methanogenic bacteria are sensitive 
3. Easy to handle the gas collection 
4. pH plays major role 
a. 1, 3, 4   b. 1, 2, 4   c. 2, 3, 4 
d. 1, 2, 3   e. Answer not known 
fPo;fz;l nrhw;nwhlh;fspy; caph; thA Miy Fwpj;J rhpahdit vit? 
1. fopTg; gbit ifahStJ fbdk; 
2. thA cUthf;Fk; nkjNdhn[dpf; ghf;bhpah jPtpukhdJ 
3. thA Nrfhpg;G vspjhdJ 
4. pH Kf;fpa gq;F tfpf;fpwJ 
a. 1, 3, 4   b. 1, 2, 4   c. 2, 3, 4 

d. 1, 2, 3   e. tpil njhpatpy;iy 
 

104. Which among the following chemical is mixed with LPG (Liquifies 
Petroleum Gas) in LPG cylinders? 
a. Sulphur dioxide  b. Ethyl Mercaptan c. Mercapto ethanol 
d. Nitrogen dioxide  e. Answer not known 
gpd;tUtdtw;Ws; ve;j Ntjpg; nghUshdJ rikay; vhpthA (LPG) 
cUisfspy; milf;fg;gLk; vhpthAtpy; Nrh;f;fg;gLfpd;wJ? 
a. fe;jf il Mf;i]L b. vj;jpy; nkh;fhg;ld; c. nkh;fhg;Nlh vj;jdhy; 
d. iel;u[d; il Mf;i]L e. tpil njhpatpy;iy 
 

105. Which of the following is/are wrongly matched? 
A. Namdapha National Park - Arunachal Pradesh 
B. Keibul Lamjao National Park - Meghalaya 
C. Nokrek National Park  - Manipur 
D. Similipal National Park  - Odisha 
a. (A) and (D)   b. (B) and (C)   c. (D) only 
d. (A) only   e. Answer not known 
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gpd;tUtdtw;wpy; vJ /vit jtwhfg; nghWj;jg;gl;Ls;sd? 
A. ek;jgh Njrpag; G+q;fh  - mUzhryg; gpuNjrk; 
B. Nfa;Gy; yk;N[h Njrpag; G+q;fh - Nkfhyah 
C. Nehf;nuf; Njrpag; G+q;fh  - kzpg;G+h; 

D. rpkpypghy; Njrpag; G+q;fh  - xbrh 
a. (A) kw;Wk; (D)  b. (B) kw;Wk; (C)   c. (D) kl;Lk; 
d. (A) kl;Lk;   e. tpil njhpatpy;iy 

 
106. Match correctly the specific species conservation projects with their 

corresponding places: 
A. Project Cheetah   1. Barda Wildlife Sanctuary 
B. Project Sanjeevani   2. Desert National Park 
C. Project Lion    3. Kuno National Park 
D. Project Great Indian Bustard 4. Himachal Pradesh 

A B C D 
a. 4 2 3 1 
b. 3 4 1 2 
c. 2 3 4 1 
d. 3 1 2 4 
e. Answer not known 
Fwpg;gpl;l ,dq;fspd; ghJfhg;Gj; jpl;lq;fis mtw;wpw;Fj; njhlh;Gila 
,lq;fSld; rhpahfg; nghUj;jTk;: 
A. rpWj;ij jpl;lk;  1. gh;jh tdtpyq;F ruzhyak; 
B. rQ;rPtdp jpl;lk;  2. ghiytd Njrpag; G+q;fh 

C. rpq;fk; jpl;lk;  3. FNdh Njrpag; G+q;fh 
D. fhdkapy; jpl;lk;  4. ,khr;ryg; gpuNjrk; 

A B C D 
a. 4 2 3 1 
b. 3 4 1 2 
c. 2 3 4 1 
d. 3 1 2 4 
e. tpil njhpatpy;iy 

 
107. Choose the wrong answer 

The objectives of the forest department are 
a. Environmental stabilization and enhancement of forest productivity. 
b. Deforestation and Habitat destruction 
c. Preserving natural forests and wildlife 
d. Conservation of eco systems and their genetic diversity 
e. Answer not known 
jtwhd gjpiyj; Njh;e;njLf;fTk;. 
tdj;Jiwapd; ,yf;F kw;Wk; Nehf;fq;fs; 
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a. Rw;Wr;#oy; cWjpg;gLj;jy; kw;Wk; td cw;gj;jpia Nkk;gLj;Jjy; 
b. fhlopg;G kw;Wk; tho;tpl mopT 
c. ,aw;if fhL kw;Wk; td caphpdq;fisg; ghJfhj;jy; 
d. Rw;Wr;#oy; mikg;Gfspd; ghJfhg;G kw;Wk; mtw;wpd; kugZ NtWghL  
e. tpil njhpatpy;iy 

 
108. Which of the following is wrong Statement? 

i. Tamil Nadu stands second in area and production of coffee next to 
Karnataka. 

ii. Coffee plants are grown only in the hills of Western Ghats. 
iii. Tamil Nadu ranks second in area and production of Tea in India next to 

Assam. 
a. i only  b. ii only  c. i and ii only   
d. i and iiii e. Answer not known  
fPo;fz;ltw;Ws; jtwhd $w;wpid Fwpg;gpLf. 
i. fhgp cw;gj;jpapy; mjd; gug;gstpy; fh;ehlhf khepyj;jpw;F mLj;J 

jkpo;ehL ,uz;lhkplk; tfpf;fpwJ. 
ii. Nkw;F njhlh;r;rp kiyfspy; kl;Lk; fhgp gaphplg;gLfpwJ 

iii. Njapiy gaphpLk; gug;G kw;Wk; cw;gj;jpapy; ,e;jpahtpy; mrhk; 
khepyj;jpw;F mLj;jg;gbahf jkpo;ehL ,uz;lhkplk; tfpf;fpwJ 

a. i kl;Lk;   b. ii kl;Lk;   c. i kw;Wk; ii kl;Lk; 
d. i kw;Wk; iii kl;Lk; e. tpil njhpatpy;iy 

 
109. ICRISAT is related to 

a. Land ceiling   b. Dry land farming  c. Live stock 
d. Fertiliser subsidy  e. Answer not known 
ICRISAT _____ cld; njhlh;GilaJ. 
a. epy cr;rtuk;G  b. twz;l epy tptrhak;  c. fhy;eil 
d. cuj;Jf;fhd khdpak; e. tpil njhpatpy;iy 

 
110. Match the following and select the correct answer. 

A. Nayak Committee   1. Unorganised sector 
B. Tarapore Committee  2. Centre state relations 
C. Rajamannar Committee  3. Availability of Credit to SSI 
D. Arjun Sen Gupta Committee 4. Capital account Convertibility 

A B C D 
a. 4 3 2 1 
b. 1 2 4 3 
c. 3 4 2 1 
d. 3 2 1 4 
e.  Answer not known 
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fPo;tUgdtw;iw nghUj;jp rhpahd tpiliaj; Njh;T nra;f. 
A. ehaf; FO   1. mikg;G rhuh Jiw 

B. jhuhG+h; FO   2. kj;jpa – khepy njhlh;G 

C. ,uh[kd;dhh; FO  3. rpwpa msT njhopw;rhiyfSf;F fld;  
fpilg;gJ 

D. mh;[{d; nrd; Fg;jh FO 4. %yjd fzf;F khw;Wj; jpwd;  
A B C D 

a. 4 3 2 1 
b. 1 2 4 3 
c. 3 4 2 1 
d. 3 2 1 4 
e.  tpilnjhpatpy;iy. 

 

111. Which of the following is / are not part of the agricultural price policy? 
1. To improve technology for higher production 
2. To help the distribution of land 
3. To fix the procurement prices 
4. To manage public distribution system 
Select the correct answers by using the codes given below: 
a. 1 only   b. 2 only   c. 1, 2 and 3  
d. 1,3 and 4   e. Answer not known 
fPo; Fwpg;gpl;ljpy; vJ Ntshz; tpiyf; nfhs;ifapd; Kf;fpa Nehf;fq;fspy; 
Fwpg;gplhjJ? 
1. mjpf cw;gj;jpf;F njhopy; El;gj;ij cah;j;JtJ 
2. epyg; gfph;Tf;F cjTtJ 
3. nfhs;Kjy; tpiyia eph;zak; nra;jy; 
4. nghJg; gfph;T Kiwia Nkyhz;ik nra;jy; 
FwpaPLfs; %yk; rhpahd tpil fhz;f 
a. 1 kl;Lk;  b. 2 kl;Lk;   c. 1> 2 kw;Wk; 3 
d. 1> 3 kw;Wk; 4 e. tpil njhpatpy;iy 

 

112. Which of the following is incorrectly paired? 
1. CACP - Commission for Agricultural Cost and Prices 
2. ICDS -Integrated Child Development Service  
3. NFSA -National Food Security Association 
4. MDM - Mid Day Mission 
a. 1 and 2 only   b. 1 and 3 only  c. 2 and 3 only 
d. 3 and 4 only   e. Answer not known 
gpd;tUtdtw;wpy; vJ jtwhf ,izf;fg;gl;Ls;sJ? 
1. CACP - tptrha nryT kw;Wk; tpiy FO  
2. ICDS - xUq;fpize;j Foe;ij Nkk;ghl;L Nritfs; 
3. NFSA - Njrpa czT ghJfhg;G rq;fk; 
4. MDM - kjpa ehs; gzp 
a. 1 kw;Wk; 2 kl;Lk; b. 1 kw;Wk; 3 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk; 
d. 3 kw;Wk; 4 kl;Lk; e. tpil njhpatpy;iy 



 

34 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

113. Which of the following are associated with land reform measures? 
1. Abolition of intermediaries 2. Tenancy legislation  
3. HYV Seeds    4. Ceiling on land holdings 
Select the correct answer using the codes given below: 
a. (1), (2) and (4) only  b. (1), (3) and (4) only  c. (2) and (4) only 
d. (1), (2), (3) and (4)   e. Answer not known 
fPo;f;fz;ltw;Ws; epyr; rPh;jpUj;j eltbf;iffNshL njhlh;Gilait vit? 
1. ,ilj; jufh;fis xopj;jy;   2. epyf; Fj;jif rl;lk; 
3. mjpf kf#y; jUk; tpij tiffs;  4. epy cr;r tuk;G 
fPNo nfhLf;fg;gl;Ls;sdtw;wpypUe;J rhpahdtw;iwj; Njh;e;njLf;fTk;: 
a. (1), (2) kw;Wk; (4) kl;Lk; b. (1), (3) kw;Wk; 4 kl;Lk; 
c. (2) kw;Wk; (4) kl;Lk;  d. (1), (2), (3) kw;Wk; (4) 
e. tpil njhpatpy;iy 

 
114. The components of Evergreen Revolution are 

(1) Produce more using fewer resources 
(2) Using renewable sources of energy 
(3) Maintaining environment for soil health 
(4) Prevention of land subdivision 
a. 1, 2, 3 only   b. 2, 3, 4 only   c. 1, 3, 4 only 
d. 2, 1, 4 only   e. Answer not known  
ePbj;j epiyf;Fk; gRikg;Gul;rpapd; cl;fUj;Jfs; 
(1) Fiwe;j ,LnghUl;fspy; mjpf cw;gj;jp 
(2) GJg;gpf;fj;jf;f rf;jp gad;ghL 
(3) kz;tsk; ghJfhf;f Rw;Wr;#oiy NgZjy; 
(4) epyk; Jz;lhlg;gLtijj; jLj;jy; 
a. 1, 2, 3 kl;Lk;   b. 2, 3, 4 kl;Lk;  c. 1, 3, 4 kl;Lk; 
d. 2, 1, 4 kl;Lk;   e. tpil njhpatpy;iy 
 

115. The element that concentrates strongly in the thyroid gland is 
a. Chlorine  b. Bromine    c. Iodine 
d. Calcium  e. Answer not known 
ijuha;L Rug;gpapy; mjpfkhf nrwpT+l;lg;gLk; jdpkk; vJ? 
a. FNshhpd;  b. GNuhkpd;    c. INahbd; 
d. fhy;rpak;  e. tpil njhpatpy;iy 
 

116. Simplify: 
2 16 4

4 4

x x

x x

− −


+ +
 

a. (x + 4)   b. (x - 4)   c. (x + 4)(x - 4) 
d. (x2 - 42)  e. Answer not known 

RUf;Ff:
2 16 4

4 4

x x

x x

− −


+ +
 

a. (x + 4)   b. (x - 4)   c. (x + 4)(x - 4) 
d. (x2 - 42)  e. tpil njhpatpy;iy 
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117. Find the HCF is 
1 1 2 3

, , ,
2 3 3 4

 and 
4

5
 

a. 1 b. 12  c. 
4

5
  d. 

1

60
  e. Answer not known  

1 1 2 3
, , ,

2 3 3 4
 kw;Wk; 

4

5
apd; kP.ngh.t. it fz;Lgpb.  

a. 1 b. 12  c. 
4

5
  d. 

1

60
  e.  tpil njhpatpy;iy  

 
118. Find x such that 3x+2 = 3x + 216 

a. 3  b. 4  c. 5  d. 6  e. Answer not known 
x-d; kjpg;G fhz;f: 3x+2 = 3x + 216 
a. 3  b. 4  c. 5  d. 6  e. tpil njhpatpy;iy 

 
119. Find the GCD of 2x2 – 18 and x2 – 2x – 3 

a. (x – 3) b. (x + 3) c. (x + 1) d. (x – 1) e. Answer not known 
2x2 – 18 kw;Wk; x2 – 2x – 3 d; kP.ngh.t. fhz;f. 
a. (x – 3) b. (x + 3) c. (x + 1) d. (x – 1) e.  tpil njhpatpy;iy 

 
120. The population of a town is increasing at the rate of 10% p.a. It was 4,35,000 

in the year 2016. Find the population in the year 2018? 
a. 3,52,350  b. 3,59,504   c. 5,26,350    
d. 5,37,037  e. Answer not known 
xU efuj;jpd; kf;fs;njhif Mz;Lf;F 10% tPjk; mjpfhpf;fpwJ. 2016 Mk; 

Mz;bd; kf;fs; njhif 4,35,000 Mf ,Ue;jJ vdpy;> 2018 Mk; Mz;bd; 
kf;fs;njhifiaf; fhz;f. 
a. 3,52,350  b. 3,59,504   c. 5,26,350    
d. 5,37,037  e. tpil njhpatpy;iy 
 

121. Human blood grouping was discovered by 
a. Landsteiner   b. Punett   c. Correns 
d. Muller    e. Answer not known 
kdpj ,uj;j tiffisf; fz;lwpe;jth; 
a. Nyd;l;];Bdh;   b. Gd;ndl;   c. Nfhnud;]; 
d. Ky;yh;   e. tpil njhpatpy;iy 
 

122. Elephantiasis is caused by 
a. Trypanosoma  b. Wuchereria bancrofti c. Ascaris lumbricoides 
d. Plasmodium vivax  e. Answer not known 
ahidf;fhy; Nehia Vw;gLj;Jk; caphp 
a. bhpg;gdNrhkh    b. cr;rhPhpah ghq;f;ug;b  
c. m];fhhp]; Yk;gphpfha;l];  d. gpsh];Nkhbak; itthf;];  

e. tpil njhpatpy;iy 



 

36 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

123. Which of the following is an example of Zoonotic disease? 
a.  Leprosy    b. Diphtheria     c.  Rabies 

d.  Amoebiasis     e.   Answer not known 
gpd;tUtdw;Ws; vJ tpyq;Ffsplk; ,Ue;J kdpjDf;F tUk; Neha;?  

a. njhONeha;   b. njhz;il milg;ghd;   c. Nugp];  

d. mkPgpahrp];   e. tpil njhpatpy;iy 

124. Who discovered X-ray? 
a. Einestein   b. Madam Curie  c. J.J. Thomson 
d. Roentgen   e. Answer not known 
vf;]; fjph;fis fz;Lgpbj;jth; ahh;? 
a. Id;];Bd;   b. Nklk; fpA+hp  c. J.J. jhk;rd; 
d. Nuhz;l;fd;   e. tpil njhpatpy;iy 
 

125. There are 118 elements in modern periodic table. Among them, _____ are 
naturally occurring elements. 
a. 91  b. 92  c. 93  d. 94  e. Answer not known 
etPd jdpkthpir ml;ltizapy;> Rkhh; 118 jdpkq;fs; cs;sd. mjpy; ____ 
jdpkq;fs; ,aw;ifapy; fhzg;gLfpd;wd. 
a. 91  b. 92  c. 93  d. 94  e. tpil njhpatpy;iy 
 

126. The salt formed by the combination of the mixture of solutions of two simple 
salts and which lose identity of the salts from which it is formed. 
a. Complex salt  b. Acidic salt  c. Mohr’s salt   
d. Alkali salt  e. Answer not known 
,U vspa cg;Gf;fiury;fis fye;J fpilf;Fk; cg;ghdJ> vjpypUe;J 
cUthf;fg;gl;lNjh> mt;Tg;Gf;fspd; jdpj;jd;ikia ,of;fpwJ. ,JNt  
a. mizT cg;G  b. mkpy cg;G   c. Nkhh; cg;G  
d. fhu cg;G   e. tpil njhpatpy;iy 
 

127. Buffer solutions are used to 
a. Decrease the pH value b. Change the pH value 
c. Increase the pH value d. Maintain the pH value  
e. Answer not known 
jhq;fy; fiury; vjw;fhf gad;gLfpwJ? 
a. pH kjpg;ig Fiwf;f b. pH kjpg;ig khw;Wtjw;F 

c. pH kjpg;ig mjpfhpf;f d. pH kjpg;ig khwhky; itj;jpUf;f 
e. tpil njhpatpy;iy 

 
128. Which State has exported locally grown ‘Birds Eye Chilli’ or ‘Thai Chilli’ to 

the USA? 
a. Andhra Pradesh  b. Mizoram   c. Telegana 
d. Maharastra   e. Answer not known 
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ve;j khepyk; cs;ehl;by; tpisAk; ‘gwitfs; fz; kpsfha;’ my;yJ ‘jha; 
kpsfhia’ mnkhpf;fhtpw;F Vw;Wkjp nra;Js;sJ? 
a. Me;jpug; gpuNjrk;  b. kpNrhuhk;   c. njYq;fhdh 
d. k`huh~;buh   e. tpil njhpatpy;iy 

 
129. Identify the ports of India labelled as 1,2,3 and 4 in the given Rough map of 

India. 

 
a. Haldia, Paradeep , Masulipatinam, Tuticorin 
b. Paradeep, Haldia, Masulipatinam, Tuticorin 
c. Tuticorin, Masulipatinam, Paradeep , Haldia 
d. Masulipatinam, Tuticorin, Haldia, Paradeep 
e. Answer not known 
nfhLf;fg;gl;Ls;s Njhuha ,e;jpa tiuglj;jpy; 1> 2> 3 kw;Wk; 4 vd;W 
Fwpf;fg;gl;Ls;s ,e;jpa JiwKfq;fisf; fz;lwp 
a. `hy;bah> ghujPg;> k#ypg;gl;bdk;> J}j;Jf;Fb 
b. ghujPg;> `hy;bah> k#ypg;gl;bdk;> J}j;Jf;Fb 
c. J}j;Jf;Fb> k#ypg;gl;bdk;> ghujPg;> `hy;bah 
d. k#ypg;gl;bdk;> J}j;Jf;Fb> `hy;bah> ghujPg; 
e. tpil njhpatpy;iy 

 
130. In which year, quick mail service was introduced in India? 

a. 1975 b. 1977 c. 1971  d. 1976 e. Answer not known 
,e;jpahtpy; ve;j Mz;L tpiuT mQ;ry; Nrit mwpKg;gLj;jg;gl;lJ? 
a. 1975 b. 1977 c. 1971  d. 1976 e. tpil njhpatpy;iy 

 
131. The four segment of the golden quadrilateral join the following cities:  

1. Delhi – Mumbai 

2. Mumbai – Chennai 

3. Chennai – Kolkata 

4. Kolkata – Delhi 

Consider the length of the above segments in descending order and select the 

correct answer using the code given below: 

a. 3,  4,  1,  2      b. 3,  4,  2,  1   c. 4,  3,  2,  1   

d.4,  3,  1,  2   e. Answer not known 
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jq;f ehw;fu rhiyfspd; ehd;F gphpTfs; fPo;fz;l efuq;fis ,izf;fpwJ. 

1. nly;yp – Kk;ig   2. Kk;ig – nrd;id  

3. nrd;id – nfhy;fj;jh 4. nfhy;fj;jh – nly;yp 
NkNy cs;s gphpTfspd; ePsj;ij ,wq;F  thpirapy; fUj;jpy; nfhz;L fPNo 
NfhLf;fg;gl;Ls;s FwpaPl;il gad;gLj;jp rhpahd gjpiy Njh;e;njLf;fTk;: 

a. 3,  4,  1,  2   b. 3,  4,  2,  1   c. 4,  3,  2,  1  

d. 4,  3,  1,  2    e.  tpil njhpatpy;iy 

 
132. Which one of the following is India’s first 6 lane high speed express way? 

a. National Express Way 1  b. Delhi – Gurgaon express way 
c. Mumbai – Pune express way d. Ganga express way 
e. Answer not known 
gpd;tUtw;wpy; vJ ,e;jpahtpd; KjyhtJ 6 top mjpNtf tpiuTg;ghij 
MFk;. 
a. Njrpa tpiuTg; ghij 1  b. jpy;yp- fh;fhNahd; tpiuTg;ghij 
c. Kk;ig - G+Nd tpiuTg;ghij d. fq;if tpiuTg;ghij 
e. tpil njhpatpy;iy 

 
133. Choose the incorrect statement: 

I. A Kisan credit card is aimed to have quick and affordable credit to farmers. 
II. Agricultural Produce Market Committee is a non-statutory body 
III. To promote agricultural activities is the function of APMC 
IV. APMC provides market led extension services to farmer 
a. I and II   b. III and IV   c. IV only   

d. II only  e. Answer not known 
nghUj;jkw;w $w;wpid fz;lwpf.  
I. coth; fld; ml;il tptrhapfSf;F tpiuthfTk; jFjpf;Nfw;gTk; fld; 

toq;Fk; Vw;ghlhFk;  
II. tptrha nghUl;fSf;fhd mq;fhbf;FO (APMC) xU rl;lg;G+h;tkhd 

mikg;G my;y 
III. Ntshz; eltbf;iffis Cf;Ftpg;gJ APMC – d; gzpahFk;  
IV. APMC re;ij rhh;e;j tphpthf;f Nritfis toq;FfpwJ 
a. I kw;Wk; II   b. II kw;Wk; IV   c. IV kl;Lk;     
d. II kl;Lk;   e. tpil njhpatpy;iy 

 
134. Which pair is not related to Intensive Area Development Programme 

(IADP)? 
a. Ludhiana in Punjab   b. Aligarh in Uttar Pradesh  
c. Thiruvarur in Tamilnadu  d. Pali in Rajasthan 
e. Answer not known 
ve;j gFjp jPtpu gFjp Nkk;ghl;Lj; jpl;lj;Jld; njhlh;GilaJ my;y? 
a. Yjpahdh> gQ;rhg; b. mypfhh;> cj;jpu gpuNjrk; c. jpUth&h;> jkpo;ehL 
d. ghyp> uh[];jhd; e. tpil njhpatpy;iy 
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135. ASPIRE was launched in the year 2015 for the purpose of, 
a. To improve the Educational standard of the rural poor. 
b. To increase the Employment opportunity in the urban centres. 
c. To accelerate Entrepreneurship and promote start-up. 
d. To Enhance the Educational facilities in the rural areas. 
e. Answer not known 
ASPIRE – 2015 tJ tUlk; ve;j Nehf;fj;jpw;fhf Jtf;fg;gl;lJ? 
a. Vio fpuhkGw fy;tp juj;ij cah;j;Jtjw;fhf. 
b. efh;g;Gw gFjpfspy; Ntiytha;g;Gfis cah;j;Jtjw;fhf. 
c. njhopy;Kidg;ig KLf;fp tpLjy; kw;Wk; Gjpa njhopy;fis Cf;Ftpj;jy;. 
d. fy;tp trjpfis Cuf gFjpfspy; mjpfg;gLj;Jjy; 
e. tpil njhpatpy;iy 

 
136. _________ is not the main objectives of special economic zone 

a. Generation of Addition Economic activity  
b. Promotion of Export goods and services  
c. Creation of employment opportunity 
d. Reduction of Income Inequal    
e. Answer not known 
rpwg;G nghUshjhu kz;lyj;jpd; __________ Nehf;fk; my;y 
a. $Ljy; nghUshjhu eltbf;iffs; cUthf;Fjy; 
b. Vw;Wkjp nghUl;fs; kw;Wk; Nritfs; ngUf;fk;  
c. Ntiytha;g;G cUthf;Fjy; 
d. tUtha; rkj;Jtkpd;ik Fiwj;jy;    

e. tpil njhpatpy;iy 
 

137. Which is the correct criteria for declaring an enterprise as “Micro”? 
i. The investment in plant and Machinery does not exceed Rs. 25 lakh 

ii. The enterprise should fall in the category of manufacturing sector and 
not service sector 

Select correct answer by using the code given below: 
a. (i) only   b. (ii) only   c. Both (i) and (ii) 
d. Neither (i) nor (ii)  e. Answer not known 
epWtdq;fis ‘ikf;Nuh’ vd;W mwptpg;gjw;fhd rhpahd msTNfhy; vJ? 
i. Miy kw;Wk; ,ae;jpuq;fspd; KjyPL 25 yl;rj;ij jhz;lhJ 
ii. epWtdkhdJ cw;gj;jp Jiwapd; gphptpy; tuNtz;Lk; Nritj; Jiw my;y 
FwpaPLfs; %yk; rhpahd tpilia Njh;T nra;f. 
a. i kl;Lk;    b. ii kl;Lk;   c. i kw;Wk; ii ,uz;Lk; 

d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 
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138. Assertion (A): High density lipoproteins transport cholesterol from  
   Peripheral tissues to the liver.  
Reason (R): The elevation of lipids in plasma leads to the deposition of  

   cholesterol on the arterial walls, leading to atherosclerosis  
a. (A) is false but (R) is true  
b. (Both (A) and (R) are true, and (R) is the correct explanation of (R)  
c. (A) is true but (R) is false  
d. Both (A) and (R) are true, but (R) is not the correct explanation of (A)  
e. Answer not known  
$w;W (A): cah; mlh;j;jp nfhOg;Gg; Gujq;fs; Gwj; jpRf;fspy; ,Ue;J  

   fy;yPuYf;Ff; nfhy];l;uhiyf; nfhz;L nry;fpd;wd.  
fhuzk; (R): gpsh];khtpy; cs;s ypg;gpl;fspd; kjpg;gPL jkdp Rth;fspy; 
nfhy];l;uhy; gbtjw;F toptFf;fpwJ. ,J ngUe;jkdp jbg;Gj;Njhy; 
mow;rpf;F toptFfpwJ.  
a. (A) jtW. Mdhy; (R) rhp       
b. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A) tpw;F rhpahd 
tpsf;fkhFk;.   
c. (A) rhp> Mdhy; (R) jtW        
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A) tpw;F rhpahd 
tpsf;fky;y   
e. tpil njhpatpy;iy 
 

139. Extra copy of chromosome 21 results in 
a. Sickle cell anaemia   b. Down syndrome  
c. Kline Felter syndrome d. Thalassemia   e. Answer not known 
FNuhNkhNrhk; 21-,y; xU efy; $Ljyhf ,Ug;gpd; mjdhy; Vw;gLtJ 
a. mhpths; ,uj;j Nrhif  b. lTd; rpd;l;Nuhk;  
c. f;iyd;/ngy;lh; rpd;l;Nuhk; d. jyrPkpah  e. tpil njhpatpy;iy 
 

140. Which of the following statements are true of Leucoderma 
1. It is a non- communicable disease 
2. It is a skin disease that causes loss of skin pigmentation 
3. There is no cure 
a. 1 and 2   b. 2 and 3    c. 1 and 3 
d. 1, 2 and 3   e. Answer not known 
gpd;tUtdtw;wpy; YNfhnlh;kh my;yJ ntz;Neha; gw;wpa cz;ik fUj;J 
vit? 
1. ,J xU njhw;whj Neha; 
2. ,J Njhy; epwkp ,og;ig Vw;gLj;Jk; xU Njhy; Neha; 
3. ,e;Neha;f;F  rpfpr;ir mspf;f KbahJ 
a. 1 kw;Wk; 2   b. 2 kw;wk; 3   c. 1 kw;Wk; 3 
d. 1> 2 kw;Wk;  3  e. tpil njhpatpy;iy 
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141. The Causative Organism Bordetella Pertussis affecting the respiratory tract 
causes ______ disease. 
a. Diphtheria    b. Tuberculosis  c. Polio Myelitis   
d. Whooping Cough  e. Answer not known 
Neha;f; fhuzpahd Nghh;nlnly;yh ngh;Lrp]; Rthrf; Foha; gFjpia ghjpj;J 
__________ Nehia Vw;gLj;JfpwJ. 
a. njhz;il mow;rp Neha; b. fhrNeha;   c. NghypNah ikypb]; 
d. ff;Fthd; ,Uky;  e. tpil njhpatpy;iy 
 

142. Which is the stronger acid than phenol due to the presence of three same 
electron with drawing groups 
i. O-Toluic Acid  ii. Benzoic Acid 
iii. Salicylic Acid  iv. Picric Acid 
a. iii only   b. i only   c. ii and iv only 
d. iv only   e. Answer not known 
gPdhiy tpl typik kpF> kw;Wk; %d;W mNj vyf;l;uhd; fth; jpwd; 
nfhz;l njhFjpfs; ngw;Ws;s mkpyk; vJ? 
i. O – nlhypapf; mkpyk; ii. ngd;rhapf; mkpyk; 
iii. rhyprpypf; mkpyk;  iv. gpf;hpf; mkpyk; 
a. iii kl;Lk;   b. i kl;Lk;   c. ii kw;Wk; iv kl;Lk; 
d. iv kl;Lk;   e. tpil njhpatpy;iy 
 

143. Answer the following questions using the data given below: 
Assertion (A): Acetic acid is a monobasic acid. 
Reason (R): Acetic acid has four hydrogen atoms but only one can be 
replaced. 
a. A is correct R is wrong 
b. A and R are correct. R does not explain A 
c. A is wrong R is correct 
d. A and R are correct. R explains A 
e. Answer not known 
gpd;tUk; tpdhf;fis fPo;f;fz;l Fwpg;Gfs; %yk; tpilaspf;fTk;: 
$w;W (A): mrpl;bf; mkpyk; xw;iwf;fhu mkpyk; 

fhuzk; (R): mrpl;bf; mkpyj;jpy; ehd;F i`l;u[d; mZf;fs; ,Ue;jhYk;> 
xNu xU i`l;u[id kl;LNk ,lg;ngau;r;rp nra;a KbAk;. 
a. $w;W A rup fhuzk; R jtW 
b. $w;Wk; A> fhuzKk; R rup> Mdhy; fhuzk; R $w;W A tptupf;ftpy;iy 
c. $w;W A jtW fhuzk; R rhp 
d. $w;W A> fhuzKk; R rup. fhuzk; R $w;iw A ed;F tpsf;FfpwJ 
e. tpil njupatpy;iy 
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144. Choose the right matches among the following: 
A. Phenolphthalein in acidic medium - Colourless 
B. Phenolphthalein in basic medium - Yellow 
C. Methyl orange in acidic medium - Pink/Red 
D. Methyl orange in basic medium - Colourless 
a. A and C are correct    b. (A) and (B) are correct  
c. B and C are correct    d. C and D are correct 
e. Answer not known 
fPo;fz;ltw;Ws; rhpahd xg;gpLjiy Njh;e;njLf;fTk; : 
A. mkpy Clfj;jpy; gpdhg;jyPd;  - epwkw;wJ 

B. fhu Clfj;jpy; gpdhg;jyPd;  - kQ;rs; 

C. mkpy Clfj;jpy; nkj;jpy; MuQ;R - ,sQ;rptg;G/rptg;G  
D. fhu Clfj;jpy; nkj;jpy; MuQ;R - epwkw;wJ 

a. (a) kw;Wk; (c) rhpahdit   b. (a) kw;Wk; (b) rhpahdit 
c. (b) kw;Wk; (c) rhpahdit   d. (c) kw;Wk; (d) rhpahdit 
e. tpil njhpatpy;iy 

 
145. Which of the following are incorrectly paired? 

Zonal Railways  Head Quarters 
1. North Central - Allahabad 
2. Western  - Mangalore 
3.  Central  - Jansi 
4. East Central  - Hajipur 
a. 1 and 2   b. 2 and 3   c. 1 and 4 
d. 3 and 4   e. Answer not known 
gpd;tUgtw;Ws; vJ jtwhf ,izf;fg;gl;Ls;sd? 
uapy; kz;lyk;   jiyikafk; 
1. kj;jpa tlf;F - myfhghj; 
2. Nkw;F   - kq;f@h; 
3. kj;jpa   - [hd;rp 
4. kj;jpa fpof;F - `h[pG+h;; 
a. 1 kw;Wk; 2  b. 2 kw;Wk; 3   c. 1 kw;Wk; 4 
d. 3 kw;Wk; 4  e. tpil njhpatpy;iy 

 

146. Consider the following statement: 
i. The Visakhapatnam - Chennai Industrial corridor is a key part of the East 

Coast Economic Corridor. 
ii. The Visakhapatnam - Chennai industrial corridor is India’s first coastal 

corridor. 
      a. Statement (i) is correct, but statement (ii) is wrong 
      b. Statement (i) and (ii) are correct 
      c. Statement (i) is wrong, but statement (ii) is right 
      d. Statement (i) and (ii) are wrong 
      e. Answer not known 
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  fPo;fz;l thf;fpaq;fis ftdpf;fTk;. 
i. fpof;F flw;fiu nghUshjhu topj;jlj;jpy;> nrd;id – tprhfg;gl;bdk; 

njhopy; topj;jlk; Kf;fpa gq;F tfpf;fpwJ. 
ii. nrd;id – tprhfg;gl;bdk; njhopy; topj;jlk; ,e;jpahtpd; Kjy; 

flw;fiu topj;jlkhFk;. 
a. thf;fpak; (i) rhp> Mdhy; thf;fpak; (ii) jtW   
b. thf;fpak; (i) kw;Wk; (ii) ,uz;LNk rhpahdJ   

c. thf;fpak; (i) jtW Mdhy; thf;fpak; (ii) rhp 
d. thf;fpak; (i) kw;Wk; (ii) ,uz;LNk jtW   

e. tpil njhpatpy;iy 
 

147. Match the following: 
Festivals   States 
A. Losar   1. Telengana 
B. Bonalu  2. Ladakh 
C. Pooram  3. Asom 
D. Bihu   4. Kerala 

A B C D 
a. 2 1 4 3 
b. 2 1 3 4 
c.  1 2 3 4 
d. 3 2 1 4 
e. Answer not known 
fPo;f;fhz;gitfis nghUj;Jf: 
tpohf;fs;   khepyq;fs; 
A. Nyhrh;  1. njyq;fhdh 

B. NghdY  2. ylhf; 
C. G+uk;   3. mrhk; 
D. gp`{   4. Nfush 

A B C D 
a. 2 1 4 3 
b. 2 1 3 4 
c.  1 2 3 4 
d. 3 2 1 4  

 
148. Choose the right matches from the following 

(1) Sex ratio - Number of female per 1000 males 
(2) IMR  - Mother’s death at the time of delivery per one lakh 
(3) MMR - Mortality before completing one year 
(4) Density of population - Measures population per square kilometer 
a. (1) and (3) are correct  b. (1) and (4) are correct 
c. (2) and (3) are correct  d. (3) and (4) are correct 
e. Answer not known 
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rhpahfg; nghUe;jpAs;stw;iwj; Njh;e;njL 
1. ghypd tpfpjk; - 1000 Mz;fSf;F vj;jid ngz;fs; vd;w tpfpjk; 
2. IMR  - xU ,yl;rk; fh;g;gpzp jha;khh;fspd; gpurt ,wg;G tpfpjk; 
3. MMR - xU taJ KbAk; Kd; Foe;ijfspd; ,wg;G tpfpjk; 
4. kf;fs; njhif mlh;j;jp - xU rJu fpNyh kPl;lhpy; trpf;Fk; kf;fs;  

njhif mstPL 
a. 1 kw;Wk; 2 rhp  b. 1 kw;Wk; 4 rhp  c. 2 kw;Wk; 3 rhp 
d. 3 kw;Wk; 4 rhp  e. tpil njhpatpy;iy   

 
149. Which of the following statements are true about population growth of 

India? 
i. Bihar, Uttarpradesh, Madhya Pradesh, Rajasthan and Orissa, which 

constitute 44% of the total population of India in 1996 
ii. Bihar, Uttarpradesh, Madhya Pradesh, Rajasthan and Orissa, which 

constitute 48% of the total population of Indian in 2016 
iii. These states contributed 70% of the total increase in population of the 

country during the period of 1996-2016 
a. i only    b. i and iii only   c. i and ii only 
d. ii and iii only  e. Answer not known 
,e;jpahtpd; kf;fl;njhif tsh;r;rp gw;wpa gpd;tUk; $w;Wfspy; rhpahdit 
vit? 
i. gPfhh;> cj;jpug;gpuNjrk;> kj;jpagpuNjrk;> ,uh[];jhd; kw;Wk; xhprh> 

1996,y; ,e;jpahtpd; nkhj;j kf;fl;njhifapy; 44 rjtPjk; MFk; 
ii. gPfhh;> cj;jpug;gpuNjrk;> kj;jpagpuNjrk;> ,uh[];jhd; kw;Wk; xhprh> 

2016,y; ,e;jpahtpd; nkhj;j kf;fl;njhifapy; 48 rjtPjk; MFk; 
iii. 1996-2016Mk; fhy fl;lj;jpy; ehl;bd; nkhj;j kf;fl;njhif mjpfhpg;gpy; 

Nkw;fz;l khepyq;fs; 70 rjtPJk; gq;fspj;jd. 
a. i kl;Lk;   b. i kw;Wk; iii kl;Lk; c. i kw;Wk; ii kl;Lk; 
d. ii kw;Wk iii kl;Lk; e. tpil njhpatpy;iy 

 
150. Which of the following is not a Maharatna Industry in India? 

a. GAIL     b. BHEL  c. Coal India Limited 
d. Airport Authority of India e. Answer not known 
fPo;f;fz;ltw;Ws; vJ ,e;jpahtpy; kfh uj;dh njhopw;rhiy ,y;iy? 
a. nfapy;   b. ngy; (BHEL)  
c. Nfhy; ,e;jpah ypkpnll; d. ,e;jpa tpkhdg; Nghf;Ftuj;J fofk;  
e. tpil njhpatpy;iy 

 
151. Which of the following is wrongly matched? 

a. Swachh Bharat Abhiyan  - Urban and rural areas 
b. Amrut Scheme  - Municipal corporation 
c. NEEDS    - Micro, small and medium enterprises 
d. Pradhan Mantri Fasal Bima Yojana - Environment 
e. Answer not known 
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gpd;tUdtw;Ws; vJ jtwhf ,izag;gl;Ls;sJ?  
a. ];tr; ghuj; mgpahd;   - efh;g;Gw kw;Wk; fpuhkg;Gwq;fs;  

b. mk;Uj; jpl;lk;    - efuhl;rp epWtdq;fs;  

c. NEEDS (ePl;];)    - FW> rpW kw;Wk; eLj;juj; njhopy;fs;  
d. gpujhd; ke;jpup gry; gPkh N[hdh  - Rw;W#oy;  
e. tpil njhpatpy;iy 

 
152. The Government of India launched a time bound plan in 2005 called Bharath 

Nirman Yojana. Which one of below is not connected with Bharat Nirman 
Yojana? 
a. Rural connectivity  b. Rural housing   c. Self help group  
d. Rural water supply  e. Answer not known 
,e;jpa muR 2005 Mk; Mz;by; ghuj; eph;khd; vd;W miof;fg;gLk; xU fhy 
vy;iyf;Fl;gl;l jpl;lj;ij mwpKfg;gLj;jpaJ. fPo;fz;ltw;wpy; ghuj; eph;khd; 
jpl;lj;Jld; njhlh;gpy;yhjJ vJ?  
a. fpuhkg;Gw ,izg;G  b. fpuhkg;Gw tPl;L trjp  c. Ra cjtp FO  

d. fpuhkg;Gw ePh; mspg;G  e. tpil njhpatpy;iy  
 

153. Arrange the following Events in Chronological Order 
1. Regional Rural Banks 
2. Seeds Bill 
3. Comprehensive Crop Insurance Scheme 
4. Kisan Credit Card 
a. (3), (1), (2), (4)  b. (2), (3), (4), (1)  c. (1), (3), (4), (2) 
d. (4), (2), (3), (1)  e. Answer not known 
fPo;f;fhZk; epfo;Tfis fhythpahf thpirg;gLj;Jf. 
1. tl;lhu fpuhk tq;fpfs;   2. tpij kNrhjh 
3. xUq;fpize;j gaph; fhg;gPl;Lj; jpl;lk; 4. fprhd; fld; ml;il 
a. (3), (1), (2), (4)  b. (2), (3), (4), (1)  c. (1), (3), (4), (2) 
d. (4), (2), (3), (1)  e. tpil njhpatpy;iy 

 
154. Why did the Poverty eradication programmes have limited success? 

a. Deficiencies in wage employment programme 
b. In-built limitations of the strategy 
c. Unsatisfactory performance of development administration  
d. All the above 
e. Answer not known 
tWik xopg;G jpl;lq;fs; Vd; FWfpa mstpy; kl;Lk; ntw;wp ngw;wd?  
a. Ntiy tha;g;G jpl;lq;fspd; FiwghL  
b. cs;shh;e;j mbg;gil FiwghLfs;  

c. jpl;lgzpfspd; eph;thfj;jpy; Vw;gl;l njha;T  
d. NkNy Fwpg;gpl;l midj;Jk; 

e. tpil njhpatpy;iy 
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155. Kala azar is caused by 
a. Leishmania tropica   b. Leishmania donovani 
c. Leishmania brasiliensis  d. Trypanosoma cruzi 
e. Answer not known 
fhyh mrhh;/fUq;fha;r;ry; fPo;fz;ltw;Ws; vtw;why; cz;lhfpd;wJ? 
a. yP];Nkdpah l;uhgpfh  b. yP];Nkdpah Nlhdhthdp 
c. yP];Nkdpah gpNurpypad;]p]; d. l;hpg;NdhNrhkh FUrp 
e. tpil njhpatpy;iy 
 

156. Find the LCM of the following 
x3 – 27, (x – 3)2, x2 – 9  
a. (x – 3)(x + 3)(x2 + 3x + 9)  b. (x – 3)2 (x2 + 3x + 9)  
c. (x – 3)2(x + 3)(x2 + 3x + 9)  d. (x – 3)2(x + 3)(x2 - 3x + 9) 
e. Answer not known 
gpd;tUtdtw;wpw;F kP.ngh.k fhz;f 
x3 – 27, (x – 3)2, x2 – 9  
a. (x – 3)(x + 3)(x2 + 3x + 9)  b. (x – 3)2 (x2 + 3x + 9)  
c. (x – 3)2(x + 3)(x2 + 3x + 9)  d. (x – 3)2(x + 3)(x2 - 3x + 9) 
e.  tpil njhpatpy;iy 

 
157. There are 560 students in a school.  Out of 560 students, 320 are boys.  Find 

the percentage of girls in that school. 
a. 42.86%  b. 40.26%   c. 42.68%   
d. 40.32% e. Answer not known 
xU gs;spapy; 560 khzth;fs; cs;sdh;.  mjpy; 320 Ngh; rpWth;fs; vdpy;> 
me;jg; gs;spapy; cs;s rpWkpfspd; rjtPjj;ijf; fhz;f. 
a. 42.86%  b. 40.26%   c. 42.68%   
d. 40.32% e.  tpil njhpatpy;iy 

 
158. The HCF of two numbers is 2 and their LCM is 154. If the difference between 

the number is 8 then the sum is 
a. 26  b. 36  c. 46  d. 56  e. Answer not known 
,U vz;fspd; kP.ng.t. 2 kw;Wk; mtw;wpd; kP.rp.k. 154 mt;tpU 
vz;fSf;fpilNa cs;s NtWghL 8 vdpy; mtw;wpd; $Ljy; 
a. 26  b. 36  c. 46  d. 56  e. tpil njhpatpy;iy 

 
159. A family went to a hotel and spent Rs. 350 for food and paid extra 5% as 

GST. Find the amount paid by them as CGST and SGST. 
a. Rs. 10.5 and Rs. 7  b. Rs. 7 and Rs. 10.5 c. Rs. 8.75 and Rs. 8.75 
d. Rs. 8 and Rs. 9  e. Answer not known 
xU FLk;gk; cztfk; xd;Wf;Fr; nrd;W czTf;fhf &.350 Ir; nrytpl;L 
$Ljyhfr; ruf;F kw;Wk; Nrit (GST) thpahf 5% nrYj;jpaJ vdpy;> mjpy; 
kj;jpa kw;Wk; khepy-ruf;F kw;Wk; Nrit thpahf (CGST, SGST) 
nrYj;jg;gLk; njhif vd;d? 
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a. &. 10.5 kw;Wk; &. 7 b. &. 7 kw;Wk; &. 10.5  

c. &. 8.75 kw;Wk; &. 8.75 d. &. 8 kw;Wk; &. 9 e. tpil njhpatpy;iy 
 

160. Find the H.C.F. of 2x2y2z, 4x2y2z2, 8xy2z 
a. 2xy2z  b. 2xyz c. 8xy2z d. 8xyz e. Answer not known 
2x2y2z, 4x2y2z2, 8xy2z d; kPg;ngU nghJ tFj;jp fhz;f. 
a. 2xy2z  b. 2xyz c. 8xy2z d. 8xyz e. tpil njhpatpy;iy 

 
161. The ends of the seminiferous tubules open into an irregular network, which 

is called, 
a. Albuginea  b. Testis   c. Spermatic card   
d. Rete testis  e. Answer not known 
tpe;jf Ez; Foy;fs;> xOq;fw;w tiyg;gpd;dy; mikg;ghd ,jDs; 
jpwf;fpd;wd. 
a. my;g+[Pdpah  b. nl];b];   c. ];ngh;khbf; ,io  

d. nul;nl];b];  e.  tpil njhpatpy;iy 
 

162. Chipko movement was held under the leadership of 
a. Kailash Vidyarthi  b. Medha Patkar  c. Anna Hazare 
d. Sunderlal Bahuguna e. Answer not known 
rpg;Nfh ,af;fj;ij Kd;dpd;W elj;jpath; 
a. ifyh~; tpj;ahh;jp  b. Nkjh gl;fh;  c. mz;zh `rhNu 

d. Re;jh;yhy; gFFzh  e. tpil njhpatpy;iy 

 
163. India also joined other nations in announcing a net zero emissions target by 

the year 
a. 2070 b. 2030 c. 2050  d. 2060 e. Answer not known 
epfu G+[;[pa ckpo;T ,yf;if mwptpg;gjpy; kw;w ehLfSld; ,e;jpahTk; 
,ize;jJ. ______ Mk; Mz;by; G+[;[pa ,yf;if milAk; 

a. 2070 b. 2030 c. 2050  d. 2060 e. tpil njhpatpy;iy 
 

164. Choose the one which is not a Heptahydrate. 
i. Green vitriol  ii. White vitriol 
iii. Blue vitriol  iv. Red vitriol 
a. (i) and (ii) only  b. (iii) only    c. (iv) only 
d. (iii) and (iv) only  e. Answer not known 
fPo;f;fhz;gdtw;wpy; vJ n`g;lh i`bNul; my;y? 
(i) gr;ir tpl;bhpahy;  (ii) nts;is tpl;bhpahy; 
(iii) ePy tpl;bhpahy;  (iv) rptg;G tpl;bhpahy; 
a. (i) kw;Wk; (ii) kl;Lk;  b. (iii) kw;Wk;   c. (iv) kl;Lk; 
d. (iii) kw;Wk;  (iv) kl;Lk; e. tpil njhpatpy;iy   
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165. Aluminium reacts with Sodium hydroxide to give  
a. Sodium Oxide + Alumina + Hydrogen 
b. Sodium Meta Aluminate + Water  
c. Metallic Sodium + Aluminium Hydroxide 
d. Sodium Meta aluminate + Hydrogen 
e. Answer not known 
mYkpdpak; Nrhbak; i`l;uhf;irLld; tpidGhpe;J 
a. Nrhbak; Mf;i]L + mykpdh + i`l;u[d;  

b. Nrhbak; nkl;lh mYkpNdl; + ePh; 
c. cNyhf Nrhbak; + mYkpdpak; i`l;uhf;i]L 

d. Nrhbak; nkl;lh mYkpNdl; + i`l;u[d; 

e. tpil njhpatpy;iy 
 

166. Which among the following is/are wrong about a fertilizer? 
i. Fertilizer must be insoluble in water 
ii. It should maintain the pH of 10 to 13 
iii. It should not be poisonous to plants 
a.  only iii b.   i and iii c.  i, ii, iii d.  only ii e.  answer not known 
fPo;f;fhZk; $w;Wfspy; cuq;fs; Fwpj;j jtwhd $w;W vJ?  
i. cuq;fs; ePhpy; fiuahJ ,Uj;jy; Ntz;Lk;  
ii. cuq;fs; 10 Kjy; 13pH I guhkhpj;jy; Ntz;Lk;  
iii. cuq;fs; jhtuq;fSf;F er;Rf;fshf ,Uj;jy; $lhJ  
a. iii kl;Lk; b. i kw;Wk; iii    c. i, ii kw;Wk; iii  
d. ii kl;Lk;  e. tpil njhpatpy;iy  
 

167. Bordeaux mixture contains 

a. CuSO4 +lime  b. ZnSO4 +lime  c. HgCl2 +lime 

d. K2CO3+lime   e. Answer not known 

Nghh;bahf;]; fyit vd;gJ __________ MFk; 

a. CuSO4 +Rz;zhk;G  b. ZnSO4 + Rz;zhk;G c. HgCl2 + Rz;zhk;G 

d. K2CO3+ Rz;zhk;G  e. tpil njhpatpy;iy  

 

168. The celebration of world population day July 11th is started from the year. 
a. 1986 b. 1987 c. 1988  d. 1989 e. Answer not known 
cyf kf;fs;njhif jpdk; [_iy 11Mk; ehs; vd;gJ ve;j Mz;L Kjy; 
nfhz;lhlg;gl;L tUfpwJ? 
a. 1986 b. 1987 c. 1988  d. 1989 e. tpil njhpatpy;iy 

 
169. Arrange the population density in descending order based on 2011 census. 

1. Bihar  2. West Bengal 3. Kerala  4. Uttar Pradesh 
a. 4, 1, 2, 3   b. 1, 2, 4, 3   c. 2, 1, 3, 4 
d. 1, 2, 3, 4   e. Answer not known 
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2011> kf;fs; njhif fzf;nfLg;gpd; mbg;gilapy; kf;fs; njhif 
mlh;j;jpia ,wq;F thpirapy; thpirg;gLj;Jf. 
1. gPfhh;  2. Nkw;F tq;fhsk;  3. Nfush 4. cj;jpug;gpuNjrk; 
a. 4, 1, 2, 3   b. 1, 2, 4, 3   c. 2, 1, 3, 4 
d. 1, 2, 3, 4   e. tpil njhpatpy;iy 

 
170. The Central Government is the provide free food grains to under the 

National Food Security Act in the total number of beneficiaries in January – 
2023 
a. 81.35 crore   b. 80.50 crore  c. 100 crore 
d. 90.60 crore   e. Answer not known 
2023> [dthpapy; nkhj;j gadhspfspd; vz;zpf;ifapy; Njrpa czTg; 
ghJfhg;Gr; rl;lj;jpd; fPo; ,ytr czT jhdpaq;fis kj;jpa muR 
toq;fpaJ 
a. 81.35 Nfhb   b. 80.50 Nfhb  c. 100 Nfhb 
d. 90.60 Nfhb   e. tpil njhpatpy;iy 

 
171. Match the following: 

Tribe            State 
A. Banchharas   1. Bihar 
B. Koras    2. Rajasthan 
C. Padhar   3. Madhya Pradesh 
D. Rabari   4. Gujarat  
fPo;fz;ltw;iw nghUj;Jf: 
goq;Fbapdh;   khepyk;  
A. gQ;rhuh];   1. gPfhh; 

B. Nfhu];    2. ,uh[];jhd; 

C. gjhh;    3. kj;jpag; gpuNj~; 
D. ughhp    4. F[uhj; 

A B C D  
a. 1 3 4 2 
b.  2 4 3 1  
c. 3 1 4 2  
d. 3 1 2 4  
e. Answer not known 

 
172. With reference to ‘Changa’ Community of India, consider the following 

statement: 
i. They live mainly in the state of Uttarakhand  
ii. They rear the Pashmina goat that yield a fine wool 
iii. They are kept in the category of scheduled tribe. 
Which of the statements given above is/are correct? 
a. (i) only   b. (ii) and (iii) only   c. (iii) only 
d. (i), (ii) and (iii)  e. Answer not known 
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,e;jpahtpYs;s ‘rhq;Ngh’ ,dj;jtiu Fwpg;gpLifapy; fPNo cs;s 
mwpf;iffspy; vJ rhpahdjhf fUjg;gLfpwJ. 
(i). mth;fs; Kf;fpakhf cj;ufhz;l; khepyj;jpy; tho;fpwhh;fs; 
(ii). mth;fs; g~;kpdh vd;w nts;shl;bypUe;J mjpfg;gbahd fk;gspia 
ngWfpd;wdh; 
(iii). mth;fs; kiytho; ,dj;jth; vd;w gphptpy; ,Uf;fpd;wdh;. 
a. (i) kl;Lk;   b. (ii) kw;Wk; (iii) kl;Lk;  c. (iii) kl;Lk; 
d. (i)> (ii) kw;Wk; (iii)  e. tpil njhpatpy;iy 

 
173. Assertion (A): Indian Government has taken up economic programmes  for 

benefit of SCs and STs. 
Reason    (R): Provided small loans for the poorer section to help them to 
earn money through some secondary sources such as toy – making, basket 
making, agarbatti and beedi – rolling, tailoring, shoe – making etc. 
a. A is True but R is false 
b. Both A and R are true, and R is the correct explanation of A  
c. A is false R is true 
d. Both A and R are true, but R is not the correct explanation of A 
e. Answer not known 
$w;W A: ,e;jpa murhq;fk; nghUshjhuk; rhh;e;j jpl;lq;fisj; jho;j;jg;gl;l 

kw;Wk; kiytho; ,d kf;fs; gad;ngWk; tifapy; nray;gLj;JfpwJ. 
fhuzk; R: nghk;ik nra;jy;> $il Kiljy;> mfh;gj;jp kw;Wk; gPb Rw;Wjy;> 

Jzpj; ijayfk;> fhyzp jahhpj;jy; Nghd;w rpW 
njhopy;fSf;Ff; fld; nfhLg;gjd; %yk; Vio kf;fs; Jiz 
tUkhdk; ngw muR cjtp nra;fpwJ. 

a. $w;W A rhp Mdhy; fhuzk; R jtW 
b. $w;W A kw;Wk; fhuzk; R ,uz;Lk; rhp fhuzk; R $w;W A f;fhd 

rhpahd tpsf;fkhFk; 
c. $w;W A jtW fhuzk; R rhp 
d. $w;W A kw;Wk; fhuzk; R ,uz;Lk; rhp fhuzk; R $w;W Af;fhd rhpahd 

tpsf;fky;y 
e. tpil njhpatpy;iy. 

 
174. Which of the following are the economic problems of poverty? 

I. Increasing unemployment  II. Technological Development 
III. Capital deficiency   IV. Inadequate economic Development 
a. I, II and III   b. II, III and IV  c. I, III and IV 
d. I,II and IV   e. Answer not known 
gpd;tUgit tWikapd; nghUshjhu gpur;ridahFk;. 
I. mjpfhpf;Fk; Ntiyapd;ik  II. njhopy;El;g tsh;r;rp 
III. %yjdg; gw;whf;Fiw   IV. Nghjpa nghUshjhu tsh;r;rpapd;ik 
a. I, II kw;Wk; III   b. II, III kw;Wk;  IV  c. I,III kw;Wk;  IV 
d. I,II kw;Wk;  IV   e. tpil njhpatpy;iy 
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175. Consider the following statements related to the Growth of population in 
underdeveloped nations: 
1. Low savings due to high level consumption expenditure 
2. It destroys the natural resources 
3. It stimulate greater productivity and savings 
Select the correct answers by using the codes: 
a. 1 only b. 2 only c. 1 and 2  d. 2 and 3 e. Answer not known 
gpd;jq;fpa ehLfspy; fhzg;gLk; kf;fs; njhifg; ngUf;fk; Fwpj;j 
fUj;Jfis ftdj;jpy; nfhs;sTk;  
1. mjpf Efh;Tr; nrythy; Nrkpg;G FiwfpwJ.  
2. ,aw;if tsq;fs; mope;J NghFk; mstpw;F gad;gLj;jg;gLfpwJ.  
3. mjpf cw;gj;jpj; jpwd; kw;Wk; Nrkpg;ig Cf;Ftpf;fpwJ.  
FwpaPLfisg; gad;gLj;jp rhpahd tpil fhz;.  
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
176. What does ‘BIMARU’ implies? 

a. States with the lowest birth rates 
b. States with the Highest mortality rates 
c. The most populous states 
d. The least populous states 
e. Answer not known 
‘BIMARU’ vd;gJ vij Fwpf;fpwJ? 
a. Fiwe;j gpwg;G tpfpjj;ij nfhz;l khepyq;fs; 
b. mjpf ,wg;G tpfpjj;ij nfhz;l khepyq;fs; 

c. mjpf kf;fs; njhif nfhz;l khepyq;fs; 

d. Fiwe;j kf;fs; njhif nfhz;l khepyq;fs; 
e.  tpil njhpatpy;iy 

 
177. When was the National Early Childhood Care and Education (NECCE) 

Policy 
a. 2013 b. 2017 c. 2018 d. 2019 e. Answer not known 
Njrpa gr;rpsq;Foe;ijfs; ghJfhg;G kw;Wk; fy;tpj;jpl;lk; vt;thz;L 
njhlq;fg;gl;lJ? 
a. 2013 b. 2017 c. 2018 d. 2019 e. tpil njhpatpy;iy 

 
178. The major cause for the depletion of Ozone is 

a. Aerosol   b. Hydrogen Sulphide c. Hydrogen Sulphate 
d. Carbon di oxide  e. Answer not known 
XNrhid mopf;Fk; Kf;fpa fhuzp 
a. J}Rg;glyk;   b. i`l;u[d; ry;/igL c. i`l;u[d; ry;/Ngl; 

d. fhh;gd;il Mf;irL e. tpil njhpatpy;iy 
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179. The term biodiversity indicates 
a. Species richness and genetic variation 
b. Species richness and habitat diversity 
c. Genetic variation and diverse ecosystems 
d. Species richness alone 
e. Answer not known 
gy;Yaphpak; my;yJ caphpg;gd;kak; vd;w gjk; Fwpg;gpLtJ 
a. ,dr;nrOik kw;Wk; kugZ NtWghL 
b. ,dr;nrOik kw;Wk; tho;tplg; gd;kak; 
c. kugZ NtWghL kw;Wk; gy;tif #oyikg;Gfs; 
d. ,dr;nrOik kl;Lk; 
e. tpil njhpatpy;iy 
 

180. The UN conference of Environment and development is popularly known as 
____________. 
a. Montreal protocol  b. Basel conference  c. Kyoto protocol  
d. Earth summit  e. Answer not known   
Rw;Wr;#oy; kw;Wk; Nkk;ghl;Lf;fhd I.eh. khehL gpugykhf _________ vd 
miof;fg;gLfpwJ.  
a. khd;l;hpay; newpKiw b. Ngry; khehL   c. fpNahl;Nlh newpKiw 
d. G+kp cr;rp khehL   e. tpil njhpatpy;iy  
 

181. Match the following: 
A. Biological Diversity Act   1. 1972 
B. National green Tribunals   2. 2010 
C. The Environment Protection Act 3. 2002 
D. Wild life Protection Act   4. 1986 

A B C D 
a.  3 2 4 1 
b.  2 3 1 4  
c. 3 4 1 2 
d. 4 3 1 2 
e. Answer not known 
fPo;f;fhz;gtw;iwf; rhpahfg; nghUj;Jf: 
A. caphpay; gd;Kfj;jd;ik rl;lk; 1. 1972 
B. Njrpa gRik jPh;g;ghaq;fs;  2. 2010 
C. Rw;Wr;Roy; ghJfhg;Gr; rl;lk;  3. 2002 

D. tdtpyq;F ghJfhg;Gr; rl;lk;  4. 1986 

A B C D 
a.  3 2 4 1 
b.  2 3 1 4  
c. 3 4 1 2 
d. 4 3 1 2 
e. tpil njhpatpy;iy 
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182. Which of the following tribes and their location is/are correctly matched? 
Tribes (Name)  Location 
A. Jarawas  _ Andaman and Nicobar Islands 
B. Gagra   _ Uttar Pradesh 
C. Koraga  _ Tamil Nadu 
D. Rathwa —        Bihar 
a. (A) and (C)   b. (B) and (D)   c. (A) and (B) 
d. (C) and (D)   e. Answer not known 
fPo;fhzg;gLk; goq;Fbapdh; kw;Wk; mth;fspd; ,Ug;gplk;> vJ∕vit rhpahf 
nghUj;jg;gl;Ls;sd? 
goq;Fbapdh; (ngah;)  ,Ug;gplk; 
A. [huh]; —  me;jkhd; epNfhghh; jPTfs; 

B.  fhf;uh  —  cj;jpug;gpuNjrk; 
C.  nfhufh —  jkpo;ehL 

D.  uj;th  — gPfhh; 
      a. (A) kw;Wk; (C)  b. (B) kw;Wk; (D)  c. (A) kw;Wk; (B) 
      d. (C) kw;Wk; (D)   e. tpil njhpatpy;iy 
 

183. Find the mismatched linguistic group and language: 
(i) The Indo – European family - Arya 
(ii) The Dravidian family  - Dravida 
(iii) Austric Family   - Kannada 
(iv) Sino – Tibetan family  - Kirata 
a. (i) and (ii) only  b. (ii) and (iii) only  c. (iii) only 
d. (i), (ii) and (iv) only  e. Answer not known 
nkhop FOTld; jtwhfg; nghUj;jg;gl;Ls;s nkhopiaf; fhz;f. 
(i) ,e;jpa–INuhg;gpa FLk;gk; - Mhpa 
(ii) jpuhtpl FLk;gk;  - jpuhtplk; 
(iii) M];l;hpf; FLk;gk;  - fd;dlk; 

(iv) rpNdh-jpngj;jpa FLk;gk; - fpuhjh  
a. (i) kw;Wk; (ii) kl;Lk; b. (ii) kw;Wk; (iii) kl;Lk;    

c. (iii) kl;Lk;    d. (i)> (ii) kw;Wk; (iv) kl;Lk;  

e. tpil njhpatpy;iy 
 

184. The type of drought which lead to a famine, widespread disease and death 
from starvation is 
a. Meteorological drought  b. Hydrological drought 
c. Agricultural drought  d. Socio economic drought 
e. Answer not known 
gQ;rk;> gutyhd Neha; kw;Wk; gl;bdpahy; ,wg;gpw;F toptFf;Fk; twl;rp 
tif vd;gJ 
a. thdpiy twl;rp   b. ePh;epiy twl;rp  c. tptrha twl;rp 
d. r%f nghUshjhu twl;rp  e. tpil njhpatpy;iy 
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185. The main constituents of photo chemical – smog are 
a. oxides of nitrogen, CO and SO2 

b. oxides of nitrogen, CO and H2S 
c. oxides of nitrogen, ozone and hydrocarbons 
d. oxides of nitrogen, SO2 and hydrocarbons 
e. Answer not known 
xsp Ntjpg;Gif %l;lj;jpy; cs;s Kf;fpa thAf;$Wfs; ahit? 
a. iel;u[d; Mf;i]Lfs;> CO kw;Wk; SO2 

b. iel;u[d; Mf;i]Lfs;> CO kw;Wk; H2S 
c. iel;u[d; M;fi]Lfs;> XNrhd;> i`l;Nuh fhh;gd;fs; 

d. iel;u[d; Mf;i]Lfs;> SO2 kw;Wk; i`l;Nuh fhh;gd;fs; 

e. tpil njhpatpy;iy 
 

186. The report released by U.S based Health Effects Institute, Air Quality and 
health in more than 7000 cities, Delhi is ranked first for 
a. PM 2.5   b. NO2    c. SO2 
d. CO2   e. Answer not Known 
mnkhpf;fhitr; Nrh;e;j n`y;j; v/ntf;l;]; ,d;];l;bbA+l;> fhw;wpd; juk; 
kw;Wk; MNuhf;fpak; Mfpatw;iw 7000f;Fk; Nkw;gl;l efuq;fspy; Ma;T 
nra;jjpy; by;yp Kjyplj;jpy; __________ cs;sJ. 

a. PM 2.5   b. NO2    c. SO2 
d. CO2   e.  tpil njhpatpy;iy 

 
187. The process of establishment of an organisation in a new habitat is known as 

a.  Ecesis    b.  Migration  c.  Immigration  
d.  Coaction   e.  Answer not known   
xh; caphp jdJ Gjpa thoplj;jpy; jd;id tphpTgLj;Jk; nray; vd;gJ  
a. epiyg;gLj;Jjy;   b. Gyg;ngah;r;rp   c. Fbapwf;fk;  
d. rftpid   e. tpil njhpatpy;iy  
 

188. A food web consists of 
a. a portion of a food chain 
b. producer, consumer and decomposers 
c. interlocking food chains 
d. a set of similar consumers 
e. Answer not known 
czT tiy vd;gJ 
a. czTr; rq;fpypapd; xU gFjp   

b. cw;gj;jpahsh;fs;> Efh;Nthh; kw;Wk; rpijg;gd; 

c. czTr; rq;fpypapd; gpizg;G 
d. xj;j Efh;Nthhpd; njhFg;G 
e. tpil njhpatpy;iy 
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189. Globally wetlands are conserved with the designation of which was signed 
in Iran, 1971. 
a. Ramsar sites    b. National Parks  c. Sanctuaries 
d. Mega biodiversity centers e. Answer not known 
<uhdpy;> 1971,y; ifnaOj;jplg;gl;L __________ ngaUld; <uepyq;fs; cyf 
mstpy; ghJfhf;fg;gLfpd;wd. 
a. uhk;rhu; jsq;fs;  b. Njrpa G+q;fhf;fs; c. ruzhyaq;fs; 
d. nkfh gy;Yapu; ikaq;fs; e. tpil njhpatpy;iy 
 

190. The largest ecosystem in the world is  
a. Desert ecosystem  b. Ocean ecosystem c. Grassland ecosystem 
d. Forest ecosystem  e. Answer not known 
gpd;tUtdtw;wpy; vJ cyfpd; kpfg;nghpa #oy; kz;lyk;? 
a. ghiytdr; #oy; kz;lyk; b. fly; #oy; kz;lyk;       
c. Gy;ntspr; #oy; kz;lyk;  d. tdr; #oy; kz;lyk;  
e. tpil njhpatpy;iy 
 

191. The Rural Landless Employment Guarantee Programme (RLEGP) was 
launched on 15th August 1983 with the objective of 
a. Generating gainful employment and creating productive assets in rural 
areas 
b. To strengthen the female education in rural areas 
c. To generate employment opportunities for rural youth 
d. To maximise income of the small and marginal farmers 
e. Answer not known 
1983k; Mz;L Mf];L 15-k; ehs; fpuhk epykw;Nwhh; Ntiy tha;g;G cWjpj; 
jpl;lk; gpd;tUk; ve;j Nehf;fj;jpw;fhf mikf;fg;gl;lJ? 
a. fpuhkg; gFjpfspy; ,yhgfukhd Ntiytha;g;ig cUthf;fTk; kw;Wk; 
Mf;ftsk;       nfhz;l nrhj;Jf;fis cUthf;fTk; 
b. fpuhkg; gFjpfspy; ngz; fy;tpia tYg;gLj;j 
c. fpuhkg; Gw ,isQh;fSf;F Ntiy tha;g;ig cUthf;f 
d. rpW kw;Wk; FW tptrhapfspd; tuthia mjpfhpf;f 

e. tpil njhpatpy;iy 
 

192. The Rural women at large scale are able to engage in small – scale 
entrepreneurship due to 
a. Individual Bank Account  b. Agriculture and livestock management 
c. Self – Help Groups  d. NABARD facility 
e. Answer not known 
__________ My; fpuhkg;Gw ngz;fs; nghpa mstpy; rpW njhopy; 
KidNthh;fshf <Lgl KbfpwJ. 
a. jdpg;gl;l tq;fp fzf;F  b. tptrhak; kw;Wk; fhy;eil Nkyhz;ik 
c. Ra cjtp FOf;fs;  d. NABARD trjp   

e. tpil njhpatpy;iy 
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193. Assertion [A]: Disguised unemployment Prevails in India 
Reason [R]: Marginal Productivity of disguised unemployed labour is Zero. 
a. Both [A] and [R] are Correct 
b. Both [A] and [R] are incorrect 
c. [A] is correct; [R] is incorrect 
d. [A] is incorrect; [R] is correct 
e. Answer not known 
$w;W [A]: ,e;jpahtpy; kiwKf Ntiyapd;ik epyTfpwJ. 

fhuzk; [R]: kiwKf Ntiyapd;ikapy; njhopyhsh;fspd; ,Wjpepiy 
cw;gj;jpj;jpwd; G+[;ak; MFk;. 
a. $w;W [A] kw;Wk; fhuzk; [R] ,uz;Lk; rhp 

b. $w;W [A] kw;Wk; fhuzk; [R] ,uz;Lk; jtW 
c. $w;W [A] rhp; fhuzk; [R] jtW 
d. $w;W [A] jtW> fhuzk; [R] rhp 
e. tpil njhpatpy;iy 

 

194. Which organization collects data on Poverty in India? 
a. Planning commission   
b. NSSO- National Sample Survey Organisation 
c. CSO – Central Statistics Office  
d. Election Commission 
e. Answer not known 
,e;jpahtpy; tWik gw;wpa Gs;sp tptuq;fisj; jpul;Lk; epWtdk; vJ? 
a. jpl;lf;FO      
b. NSSO (Njrpa khjphp Ma;T mYtyfk;) 

c. CSO (kj;jpa Gs;spapay; mYtyfk;)  

d. Njh;jy; Mizak; 
e. tpil njhpatpy;iy 

 

195. Which of the following dimensions are used in the concept of multi 
dimensional poverty index? 
(i) Health (ii) Education (iii) Living standards (iv) Income levels 
a. (ii) and (iv)   b. (i)(ii) and (iii) only c. (ii),(iii) and (iv) only 
d. (i) (iii) and (iv) only e. Answer not known 
gpd;tUk; ghpzhkq;fspy; vit gy ghpkhz tWik FwpaPl;by; 
gad;gLj;jg;gLfpwJ? 
(i) Rfhjhuk; (ii) fy;tp (iii) tho;f;ifj; juq;fs; (iv) tUkhd epiyfs; 
a. (ii) kw;Wk;   (iv)  b. (i) (ii) kw;Wk; (iii) kl;Lk;  
c. (ii), (iii) kw;Wk; (iv)kl;Lk; d. (i) (iii) kw;Wk; (iv) kl;Lk;  
e. tpil njhpatpy;iy 
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196. Chalk contains calcium, carbon and oxygen in the ratio 10 : 3 : 12. Find the 
percentage of carbon in chalk. 
a. 3%  b. 12% c. 40% d. 48% e. Answer not known 
Rz;zf; fl;bapy; fhy;rpak;> fhh;gd; kw;Wk; Mf;]p[d; 10 : 3 : 12 vd;w 
tpfpjj;jpy; cs;sd vdpy; fhh;gdpd; rjtPjj;ijf; fhz;f. 
a. 3%  b. 12% c. 40% d. 48% e. tpil njhpatpy;iy 

 
197. Find the LCM of the given expressions. 

16 m, - 12 m2n2, 8n2 
a. 16 m2n2   b. -12 m2n2    c. -48 m2n2 
d. -48    e. Answer not known 
gpd;tUtdtw;wpd; kP.ngh.k. fhz;f 
a. 16 m2n2   b. -12 m2n2    c. -48 m2n2 
d. -48    e. tpil njhpatpy;iy 

 
198. Iniyan bought 5 dozen eggs. Out of that 5 dozen eggs, 10 eggs are rotten. 

Express the number of good eggs as percentage. 
a. 12%    b. 83.33%   c. 8.33% 
d. 10%    e. Answer not known 
,dpad; 5 lrd; Kl;ilfis thq;fpdhh;. mjpy; 10 Kl;ilfs; nfl;Ltpl;lhy;> 
ey;y Kl;ilfspd; rjtPjj;ijf; fhz;f. 
a. 12%    b. 83.33%   c. 8.33% 
d. 10%    e. tpil njupatpy;iy 

 
199. Find the greatest number consisting of 6 digits which is exactly divisible by 

24, 15, 36 
a. 999360   b. 999720   c. 999540 
d. 999900   e. Answer not known 
24, 15, 36 Mfpa vz;fshy; kPjpapd;wp tFgLk; kpfg;nghpa Mwpyf;f vz;izf; 
fhz;f. 
a. 999360   b. 999720   c. 999540 
d. 999900   e. tpil njhpatpy;iy 

 
200. The H.C.F. of two numbers is 8. Which one of the following can never be 

their LCM. 
a. 24  b. 48  c. 56  d. 60  e. Answer not known 
,U vz;fspd; kP.ngh.t (H.C.F) 8 vdpy; gpd;tUk; vz;fspy; vJ mt;tpU 
vz;fspd; kP.ngh.k (LCM) Mf ,Uf;f KbahJ. 

a. 24  b. 48  c. 56  d. 60  e. tpil njhpatpy;iy 
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